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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622849
Question Shuffling Allowed : Yes

Question Id : 5362281233 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

Consider the following table that shows the number of girls enrolled 1n three different
Universities A. B and C over the vears 2015 to 2019. Based on the data in the table. answer
the questions 1- 5:

Year-wise Number of Girls in Different Universities

Number of girls in a University

Year
A B C

2015 | 15.000 10,000 5,000

2016 | 10.000 17.500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25,000 15,000

2019 | 25,000 20.000 22,500

Sub questions

Question Number : 1 Question Id : 5362281234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1s the ratio between the total number of girls enrolled in Umiversity C in the year 2018
and the total number of girls enrolled in University A and University B together in the same
vear?

(1) 4:3 (2) 3:4
(3) 2:3 4 1:3
Options :

5362284801. 1
5362284802. 2
5362284803. 3
5362284804. 4

Question Number : 2 Question Id : 5362281235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the number of girls enrolled in the year 2019 and 2015 1s minimum

for

(1) University A only (2) University B only

(3) Both University A and University B (4) Both University A and Unmiversity C

Options :

5362284805. 1
5362284806. 2
5362284807. 3
5362284808. 4

Question Number : 3 Question Id : 5362281236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What 1z the average number of girls enrolled in the vear 2017 in all the three Universities

together?
(1) 20.000 (2) 16.500
(3) 10,000 (4) 18.500
Options :

5362284809. 1
5362284810. 2
5362284811.3
5362284812. 4

Question Number : 4 Question Id : 5362281237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Total number of girls enrolled in all the three Universities together in the vear 2015 1s what

percentage (%) of the total number of girls enrolled in University C in the year 20187

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284813. 1
5362284814.2
5362284815. 3
5362284816. 4

Question Number : 5 Question Id : 5362281238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The total number of girls enrolled 1n all the three Universities together i1s second highest for
the vear

(1) 2019 (2) 2018
(3) 2017 (4) 2016
Options :

5362284817. 1
5362284818. 2
5362284819. 3
5362284820. 4

Question Id : 5362281233 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Number of girls in a University

Year
A B C

2015 | 15.000 10.000 5.000

2016 | 10.000 17,500 20,000

2017 | 22,500 12,000 15,000

2018 | 20.000 25.000 15,000

2019 | 25.000 20,000 22,500




Sub questions

Question Number : 1 Question Id : 5362281234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o9 2018 ¥ favatamme™ C # Ffaen o4 aTell STierpsl =i %ol @EE a9 361 99 {GvataeeE A 3R

favafaamea B 5 afaen =+ arett afersradt i Affeid Fel S 1 S99 391 7 ¢
(1) 4:3 (2) 3:4

(3) 2::3 (&) 1:3
Options :

5362284801. 1
5362284802. 2
5362284803. 3
5362284804. 4

Question Number : 2 Question Id : 5362281235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2019 3T T4 2015 H SMGeT o ATl eIl i HEa § A Hefeiiad § ° F
fore e 2 |

(1)  ae favataaeEm A (2) o= Tavata=ea B
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Options :

5362284805. 1
5362284806. 2
5362284807. 3
5362284808. 4

Question Number : 3 Question Id : 5362281236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

a9 2017 | A1 Tavata=er § FiEen Sarel aerhiAl i SAHd W = o

(1) 20,000 (2) 16,500
(3) 10.000 (4) 18.500
Options :

5362284809. 1
5362284810. 2
5362284811.3
5362284812. 4

Question Number : 4 Question Id : 5362281237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

a9 2015 H A FvatmeE 4 afger SHaEe aiess fi wfEea Fe dem =9 2018 H@

Tavafaamem C o eifgen sHare anferwiaAt i Het gean F1 e gfaem 27

(1) 200% (2) 225%
(3) 165% (4) 45.4%
Options :

5362284813. 1
5362284814. 2
5362284815.3
5362284816. 4

Question Number : 5 Question Id : 5362281238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



r
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(1) 2019 (2) 2018
(3) 2017 (4y 2016
Options :

5362284817. 1
5362284818. 2
5362284819. 3
5362284820. 4

Sub-Section Number : 2
Sub-Section Id : 53622850
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

From the following. identify those characteristics which go within the categorv “helping
behaviour’ for becoming an effective teacher :

(A)  Structuring

(B) Student success rate

(C) Using student 1deas

(D)  Probing

(E) Instructional variety

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (C). (D) and (E) only (4) (A). (C)and (D) only
Options :



5362284821. 1
5362284822.2
5362284823. 3
5362284824. 4

Question Number : 6 Question Id : 5362281239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284821. 1
5362284822.2
5362284823. 3
5362284824. 4

Question Number : 7 Question Id : 5362281240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities of teaching associated with its interactive stage?

(A) Planning of lesson
(B) Determining learning outcomes

(C) Prezenting the content interspersed with questions
(D) Providing feedback and probing. if need be

(E) Motivating and monitoring students tasks

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only (2) (B).(C) and (D) only
(3) (A). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362284825. 1
5362284826. 2
5362284827. 3
5362284828. 4

Question Number : 7 Question Id : 5362281240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284825. 1
5362284826. 2
5362284827. 3
5362284828. 4

Question Number : 8 Question Id : 5362281241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In Gagne's hierarchy of learning which type of learning immediately precedes ‘Rule

learming™?

(1) Problem solving learning (2) Concept learning
(3) Diserimination learning (4) Chain learning
Options :

5362284829. 1



5362284830. 2
5362284831. 3
5362284832. 4

Question Number : 8 Question Id : 5362281241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.
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(1) === Toree sty (2) TOIF AT
(3) a5z st (4) wEer At
Options :

5362284829. 1
5362284830. 2
5362284831.3
5362284832. 4

Question Number : 9 Question Id : 5362281242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the scales of measurement, the properties of classification and order. both are
present?

(D Nominal (2) Ordinal
(3) Interval (4) Ratio
Options :

5362284833. 1
5362284834.2
5362284835. 3
5362284836. 4

Question Number : 9 Question Id : 5362281242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

g ATt o i 9o 9 2T T SufeE B R

(1)  =E= (2) FHF
(3) = (4) I
Options :

5362284833. 1
5362284834. 2
5362284835.3
5362284836. 4

Question Number : 10 Question Id : 5362281243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: The purpose of ICT interventions 1n classroom teaching 1s to promote and
optimise learning outcomes.

Statement IT: Most of the on-line methods like Swayam and MOOCs etc. have the potential
to become effective supplements to conventional teaching-learning systems.

In the hight of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are fal=e

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement I 1s true
Options :

5362284837. 1
5362284838. 2
5362284839. 3
5362284840. 4



Question Number : 10 Question Id : 5362281243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284837. 1
5362284838. 2
5362284839. 3
5362284840. 4

Question Number : 11 Question Id : 5362281244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Aszertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Research ethics mandates use of appropriate and authentic procedures to

arrive at truth and advancing solutions to problem.

Reason (R) : Credibility of research 1s not only a przed goal but a prerequisite for

excellence in human pursuit.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 18 not correct but (R) 1s correct
Options :
5362284841. 1
5362284842. 2
5362284843. 3
5362284844. 4

Question Number : 11 Question Id : 5362281244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284841. 1
5362284842. 2
5362284843.3
5362284844. 4

Question Number : 12 Question Id : 5362281245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives qualitative research perspectives while List IT provides
the central questions addressed by them.

ListI List IT

(A) Ethnography (I) What common set of symbols and
understandings have emerged to give
meaning to people’s interactions?

(B) Heurstics (IT) What 1s the culture of thiz group of
people?

(C) Phenomenology (IIT) What 1= my experience of this
phenomenon?

(D) Symbolic iInteractionism (IV) What 1s the structure and essence of

experience of this phenomenon for
thosze people?

Choose the correct answer from the options given below :

(1) (AD), (B)-(IV). (C)-IID. (D)-(II)
(2)  (A)-dD. (B)-I). (C)-IV), (D)-(D)
(3) (A)-(I1D). (B)-(ID). (C)-(D), (D)-(IV)
(4) (A)-(IV). (B)-(D). (C)-(II). (D)-(III)

Options :

5362284845. 1

5362284846. 2

5362284847. 3
5362284848. 4

Question Number : 12 Question Id : 5362281245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(I @D, B)-AV). (C)-d1I), (D)-(1I)
(2) (A)-(II). (B)-(III). (C)-@V). (D)-(I)
(3) (A1, B)-ID. (C)-@), (D)-IV)
(4) (A)-(IV), (B)-(I). (C)-ID. (D)-(III)

Options :

5362284845. 1

5362284846. 2

5362284847. 3
5362284848. 4

Question Number : 13 Question Id : 5362281246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A college teacher intends to study the problems of latecomers 1n the classroom. Which type of
sampling method will be appropriate in this context?

(1) Stratified sampling (2) Random sampling
(3) Purposive sampling (4) Cluster sampling
Options :

5362284849. 1
5362284850. 2
5362284851.3
5362284852. 4

Question Number : 13 Question Id : 5362281246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) =g wia==m (2) TEf=a® Aia=a
(3)  wWETSE AidaEA (4) FHE Tia=E
Options :

5362284849. 1
5362284850. 2
5362284851.3
5362284852. 4

Question Number : 14 Question Id : 5362281247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What are the activities which take place during the stage of reconnalssance in action
research?

(A) Identifying and classifving general 1dea
(B) Describing the facts of the situation

(C) Explaining the facts of the situation
(D) Constructing a general plan

(E) Developing the next action steps

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (B) only
(3) (C) and (D) only (4) (D) and (E) only
Options :

5362284853. 1
5362284854. 2
5362284855. 3
5362284856. 4

Question Number : 14 Question Id : 5362281247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 3= (B) 3K (C) (2) Fae (A) R (B)

(3)  #== (C) 3 (D) (4) Faa (D) # (B)
Options :

5362284853. 1
5362284854. 2
5362284855.3
5362284856. 4

Question Number : 15 Question Id : 5362281248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A teacher intends to establish the relationship between educational status of parents and
the scholastic achievement of pupils. Which of the following method of research will be

considered appropriate for this study?

(1) Philosophical method
(2) Historical method
(3) Expost facto method

(4) Experimental method
Options :
5362284857. 1
5362284858. 2
5362284859. 3
5362284860. 4

Question Number : 15 Question Id : 5362281248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362284857. 1
5362284858. 2



5362284859. 3
5362284860. 4

Question Number : 16 Question Id : 5362281249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Whach of the following 1s essential in classroom communication?

(1) Frequent repetition of the message 1n different ways
(2) Avoilding repetition of the message

(3) Interrupting the speaker frequently

(4d) Avolding eve contact with students

Options :

5362284861. 1
5362284862. 2
5362284863. 3
5362284864. 4

Question Number : 16 Question Id : 5362281249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362284861. 1
5362284862. 2
5362284863. 3
5362284864. 4

Question Number : 17 Question Id : 5362281250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Classroom communication involves

(A) Listening by learning

(B) Formal lecturing

(C) Informal discussions

(D) Less importance to feedback

(E) Explaining

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B).(C). (D) only
(3  (B). (0. (E) only (4) (C). (D). (E) only
Options :

5362284865. 1
5362284866. 2
5362284867. 3
5362284868. 4



Question Number : 17 Question Id : 5362281250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284865. 1
5362284866. 2
5362284867. 3
5362284868. 4

F4a4 (B). (C) 311 (D)

Fa (C). (D) AR (E)

Question Number : 18 Question Id : 5362281251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : To be effective 1n the classroom, a teachers should minimise the

communication barriers.

Reason (R) : Since communication 1s a complex process. regular feedback analysis 1s

essential for this purpose.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 1= correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

5362284869. 1
5362284870. 2
5362284871. 3
5362284872. 4

Question Number : 18 Question Id : 5362281251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362284869. 1
5362284870. 2
5362284871. 3
5362284872. 4

Question Number : 19 Question Id : 5362281252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct chronological sequence of the developers of communicative systems :

(A) Germans
(B) Romans
(C) Sumerians
(D) Chinese

(E) British

Choose the correct answer from the options given below :

(1) (A (C). (B). (E). (D) (2) (C). (B). D). A), (B)
(3) (B). (C). (E), (D), (A) 4y (D). (E). (C). (A). (B)
Options :

5362284873. 1
5362284874.2
5362284875.3
5362284876. 4

Question Number : 19 Question Id : 5362281252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A (C). (B), (E). (D) 2)  (O). (B). D). (A). (B)

(3)  (B).(0).(E) D). A @) (D). (E). (). (A). (B)
Options :

5362284873. 1
5362284874.2
5362284875. 3
5362284876. 4

Question Number : 20 Question Id : 5362281253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with ILast II. Last I gives Modes of Commumnication. while List IT provides their

description

ListI List IT
(Modes of Communication) (Dezcription)
(A) Publicity ()’ Reputation management
(B) Propaganda (ITI) Paid message
(C) Advertising (ITII) Non-commercial promotion
(D) Public relations (IV) Communication with motives

Choose the correct answer from the options given below :

(2)  (A-ID. (B)-(ILD. (C)-(IV). (D)-(D)
(3)  A-IV). (B)-1). (C)-11I). (D)-(II)

(4  (A)-dI). (B)-(IV), (C)-ID). (D)-(I)
Options :
5362284877. 1
5362284878. 2
5362284879. 3
5362284880. 4

Question Number : 20 Question Id : 5362281253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g=1-I =1 gi-I1 & gafeq Hifao

-1 111
(wFeror fafer) (Fereron)
(A) TER @ e vEeE
(B) ITER D) U #E
(C) fasrm (D) T arorfsas dada
(D) = T7F (@IV) EuEE HO
H=t fo7 T foebent § @ wE = g

1) (A)-(I). (B)-(1I), (C)-(1I), (D)-(IV)
(2) (A)-(ID. (B)-(I1D). (C)-(IV). (D)-(I)
(3) (A)-(IV). (B)-1). (C)-IID). (D)-(I1I)

(4) (A)-(IID). (B)-(IV), (C)-(I), (D)-(I)

Options :

5362284877. 1
5362284878. 2
5362284879. 3
5362284880. 4

Question Number : 21 Question Id : 5362281254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : It 1s possible that there are 53 Tuesdays in a non-leap yvear.
Statement II : In a non-leap vear, there are 54 of each day plus one extra day.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement IT 1s true
Options :

5362284881. 1
5362284882. 2
5362284883. 3
5362284884. 4

Question Number : 21 Question Id : 5362281254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 3 YA ffu e E

o4 (I): o7 994 & T feel f-sifead (977 =9 <) § TeEn #1535 |
Fe (ID) :  Tohe T—1iem § ueaeh 29 54 91 374 7 371 U A1 29 76 2 |
ITIF FYAT o A H I fahedl § H HA I 9 ¢

(1) =y I3k I EH 58 2 |

(2) =y I sk I 2MT e 2 |

(3) FHIT=z Fg 5 7o 2|

(4) =y I AEea 7 g %o oA 7 |

Options :
5362284881. 1
5362284882. 2



5362284883. 3
5362284884. 4

Question Number : 22 Question Id : 5362281255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kavitha collected 8 spiders (with 8 legs each) and beetles (with 6 legs each). When she
counted the legs. she found that there were altogether 54. Which of the following 1s/are true?

(A) She collected 5 spiders
(B) She collected 3 spiders
(C) She collected 5 beetles
(D) She collected 3 beetles

Choose the correct answer from the options given below :

(1) (A) and (C) only (2)  (A) and (D) only
(3) (B) and (D) only (4) (B) and (C) only
Options :

5362284885. 1
5362284886. 2
5362284887. 3
5362284888. 4

Question Number : 22 Question Id : 5362281255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Higar 4 8 WHISA (TeF 8 W Arch) R 9T (UAF 6 W A1) THEG R | oW 3E W1 A et fioat
T T 39 F T 54 o | e § ¥ S iE-E1/HE -0 TaE e

(A)  FEF b THISA UHEE H |

(B) 35 3 HHISAT UHLE H |

(C) 35 5 971 UHEA #l |

(D) IEF 3 97 UHEE H

Fr T2 T faret § @ @R I R

(1)  #a9 (A) 37 (C) only (2) =ae (A) #E (D) only

(3)  Fa= (B) 317 (D) only (4) Fa (B) 37 (C) only

Options :

5362284885. 1
5362284886. 2
5362284887. 3
5362284888. 4

Question Number : 23 Question Id : 5362281256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Complete the series :

R Ty
1 75 2 76
3 77 @ 78

Options :

5362284889. 1
5362284890. 2
5362284891. 3
5362284892. 4

Question Number : 23 Question Id : 5362281256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



2.5,9.19.37,.....

(1) 75 (2) 76

(3) 77 (4) 78
Options :

5362284889. 1
5362284890. 2
5362284891. 3
5362284892. 4

Question Number : 24 Question Id : 5362281257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what time between 2 and 3 o'clock will the hour hand and minute hand of a eclock
together?

(D 10% min. past 2 () 1[}% min. past 2
10 . :
(3) 11ﬁ min. past 2 (4) 11 min. past 2

Options :

5362284893. 1
5362284894. 2
5362284895. 3
5362284896. 4

Question Number : 24 Question Id : 5362281257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(1) 239 1{}%1'54:12'47. (2 2999 10%1%1?:117
(3) 2= 11% e m (4) 233 1192 W

Options :

5362284893. 1
5362284894. 2
5362284895. 3
5362284896. 4

Question Number : 25 Question Id : 5362281258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The average of seven consecutive numbers 1s 33. The largest of these numbers 1s

(1) 39 (2) 34
(3) 30 (4) 38
Options :

5362284897. 1
5362284898. 2
5362284899. 3
5362284900. 4

Question Number : 25 Question Id : 5362281258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTq HiHF ST &1 9d 33 | =90 © Oed 931 o 201 -

(1) 39 (2) 34
(3) 36 (4) 38
Options :

5362284897. 1



5362284898. 2
5362284899. 3
5362284900. 4

Question Number : 26 Question Id : 5362281259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The second member of the N¥aya syllogism which states the reason for the establishment of
the proposition 1s called.

(D Pratyna (2) Hetu
(3) Udaharana (4) Upnaya
Options :

5362284901. 1
5362284902. 2
5362284903. 3
5362284904. 4

Question Number : 26 Question Id : 5362281259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

~

1) vl 2 =3
(3) L A (4) 373
Options :

5362284901. 1
5362284902. 2
5362284903. 3
5362284904. 4

Question Number : 27 Question Id : 5362281260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In the argument. ‘sky flower 1s fragrant because 1t 1s a lotus’ e.g. which ever 1s lotus, 1s
fragrant e.g. lotus growing in that pond’

Mention the type of fallacy from the following :

(1) Swaroopasidha (2) Ashrvasidha
(3) Vyaptytvasidha (4) Virudha
Options :

5362284905. 1
5362284906. 2
5362284907. 3
5362284908. 4

Question Number : 27 Question Id : 5362281260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"SATRTIIREA Gl 7 FI 9% A 7 | See o fore = ot Ael BT & °F gigd Ban 2, S| R
ATeTTE | 3 T F0 |

=0 9% § eAfeiEd 9 o TRE SeaE i Seoid TR T R

(1) w==uEg (2) ImyAtTE
(3) Aeaig (4) Twg
Options :

5362284905. 1
5362284906. 2
5362284907. 3
5362284908. 4

Question Number : 28 Question Id : 5362281261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List II. List I gives the four types of fallacies while List II explains their
description.

List I List IT

(A) Asidha (). ' Here the middle term 1= contradicted
by another middle term.

(B) Savyabhichara (II) Here the middle term 1= contradicted
by some other pramana and not by
inference.

(C) Satpratipaksha (IIT) It 1s the fallacy of the irregular middle

(D) Badhita (IV) It 1s the fallacy of the unproved middle

Choose the correct answer from the options given below :

(1) (A)-(IL). (B)-(D), (C)-(IID). (D)-(IV)
(2) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)
(3) (A)-(D). (B)-(ID), (C)-aV). (D)~(III)
(4) (A)-(IV), (B)-(III). (C)-(D. (D)-(II)
Options :

5362284909. 1

5362284910. 2

5362284911. 3

5362284912. 4

Question Number : 28 Question Id : 5362281261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A1 i FA1-11 § gafea IS0 G-I 1 97 TR & seams & F@is gei-10 | 336 =amen 4§ T 2 -

gil-I TH-11
(B) w=ATHEw 1) :ﬂﬂﬁj}‘rmuﬁaﬁﬂqmgm:rfm
TFT 371 TH1 g0 BT |
(C) daufaus IID) == AT =0 1 79 2 |
D) =i (Iv) qT:;.'ﬂ'f.q—r'"u%ﬁT‘ﬂ%;ﬂMH%I

= 2 T faweT 8 @ mE I =99 i
1) (A)-(ID). (B)-(I), (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(II). (D)-(D)
(3) (A)-(D). (B)-(IL), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(II)

Options :
5362284909. 1
5362284910. 2

5362284911. 3
5362284912. 4

Question Number : 29 Question Id : 5362281262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reaszon (R) :

Assertion (A): Indian Philosophy has been 1ntensely spiritual and has always

emphasized the need of practical realization of truth.

Reason (R) : The wood ‘darshana’ means “vision’ and also the instrument of vision
which stands for the direct immediate and intuitive vision of Reality and

also includes the means which lead to this realization.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 1s correct
Options :
5362284913. 1
5362284914. 2
5362284915.3
5362284916. 4

Question Number : 29 Question Id : 5362281262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



9 2 o T2 T # ; w AT (A) 3R g F A (R) FE T

FirFeE (A) - TR T T =T § oNeniaE w2 it oo =N B o 1 s g A
SATETHHAT 9§ 1237 T E |

i) L

S THIES 28 1 TAF 7 G997 EH 97 Aghed i WiEa 2 | 8 dagta i A o

Al = |

3”:?'3 ’-Fﬂzﬁ' =+ -'i-IIvIHI'Hh 'E[ ELSIED Ircldnrvm '.l:[ '.q mﬁ%ﬁﬁ I T —Eﬁ- ;

D (@) i ®) T #E E S R), (A) A = = 2
@ (@) #R ®) = T T R). (A) F O = =
(3) (A TE 2w (R) 79 T8 2 |

(4)  (A) TF TE 2 T R) T R
Options :
5362284913. 1
5362284914.2
5362284915.3
5362284916. 4

Question Number : 30 Question Id : 5362281263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : In Indian Philosophy., Nyayva advocates the theory of extrinsic validity of
knowledge called “Paratah Pramanvad”.

Statement II: The Mimansa advocates the self-validity of knowledge both in respect of its

origin and ascertalnment.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362284917. 1
5362284918. 2
5362284919. 3
5362284920. 4

Question Number : 30 Question Id : 5362281263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ﬁﬁﬁ$ﬂq%ﬁﬂﬁ%
FoF ([): WA 2909 § =T 79 % a729 3947 1 g4 2 5 W ummEng FE1 S 2

o (1) :  Seats st fafo =i 2fe & A 59 6 sete dua i ands 2)
SUFd HYA F AAE B IR e § H waias 39 I 94

(1) Foq I 3 1L =M1 &t 2 |
(2) Fy I 317 IL =1 o8 981 2 |
(3) A I@# 2 g ua 11 @21 72 2

(4)  wuE Iad 78 2 g o I oF 2

Options :

5362284917. 1
5362284918. 2
5362284919. 3
5362284920. 4

Question Number : 31 Question Id : 5362281264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Microsoft Access, Oracle and SQL are example of

(1) File Data Base (2) Relational Data Base
(3) Template (4) Attmbute
Options :

5362284921. 1
5362284922.2
5362284923. 3
5362284924. 4

Question Number : 31 Question Id : 5362281264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ATEHETT TFHE, ARF AR UH 9 UF Aeiaiad 4 § e 33 R
(1) IS STel SE (2) TeTEe =
(3) e (4) #A=E
Options :

5362284921. 1
5362284922.2
5362284923. 3
5362284924. 4

Question Number : 32 Question Id : 5362281265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Operating system 1s an interface between

(1) Software and hardware (2) Compiler and hardware
(3) User and Computer (4) Program and software
Options :

5362284925. 1
5362284926. 2
5362284927.3
5362284928. 4

Question Number : 32 Question Id : 5362281265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) =iz HAT BT (2) =TSR T ETEAE
(3) T HN wEE (4) T FHRT AFEETT
Options :

5362284925. 1
5362284926. 2
5362284927.3
5362284928. 4

Question Number : 33 Question Id : 5362281266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which technology 1s used for crypto currency?

(1 Java (2) Block chain
(3) Block code (4) Python
Options :

5362284929. 1
5362284930. 2
5362284931. 3
5362284932. 4

Question Number : 33 Question Id : 5362281266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i > B L e . i = Y & B [ L.y
2l Tl = hF TEieen] 1 TEe e S E

(1) = (2) == =
(3)  ==E WS (4) =
Options :

5362284929. 1
5362284930. 2
5362284931. 3
5362284932. 4

Question Number : 34 Question Id : 5362281267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Internet 1s the largest information base and has become a vital part of our
lives.

Statement IT : HTML 1s an incomplete code package that allows a user to create web pages.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1= incorrect but Statement II 1s true
Options :

5362284933. 1
5362284934. 2
5362284935.3
5362284936. 4

Question Number : 34 Question Id : 5362281267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= = e By E

wo (1) : 202 =1 1 Ha 951 ATER 7 A0 97 291 S99 1 Hecadol S 94 T4 |
e (1) : HTML U Ag0 H7S T & 1 T g1 98 95 S 999 55T 7 |
T FHAA F AT A AR [FHeT §H FA I

(1)  FFEIAR I 74 2 |

(2 FFEIAIZA =4z |

(8) v\ @ 2 fohg e I 7Terd 7 |

(4)  FF I 3mca 2 g wom L& 2|

Options :

5362284933. 1

5362284934. 2

5362284935.3
5362284936. 4

Question Number : 35 Question Id : 5362281268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation CPS 1s :

(1) Computer Program Software
(2) Control Process Software

(3) Cyber Physical Software

(4) Cyber Phys=ical System

Options :

5362284937. 1
5362284938. 2
5362284939. 3



5362284940. 4

Question Number : 35 Question Id : 5362281268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CPS fi=iferfiga § o g ofiqea =g 27
(1) g T0H AR
(2)  THIA THH BRI

(38) == THiaFa givedsw

(4)  wEw THEFa Tem

Options :

5362284937. 1
5362284938. 2
5362284939. 3
5362284940. 4

Question Number : 36 Question Id : 5362281269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following conventions protocol originated from Rio Earth Summit?

(A) UN Framework convention on climate change
(B) Ramsar convention on wetlands
(C) UN convention to combat desertification

(D) Eyoto Protocol
(E) Convention on Biological Diversity

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (E) only (2) (A). (C). (D) and (E) only
(3)  (A). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362284941. 1



5362284942. 2
5362284943. 3
5362284944. 4

Question Number : 36 Question Id : 5362281269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FeAfefad § ¥ FF F F99E [T i Seafed FEl gzt o ares O 557
) Y Hel T e

(C) U =l THAT F [0 T 72 Faor
(D) AT WEERA

o

H= T ™ et 8 @ wE T g
(1) F== (A), (B) 3 (B) (2) F= (A), (O). (D) ¥ (E)
(3) = (A), (C) ¥ (E) (4) == (B), (C). (D) 37 (E)

Options :

5362284941. 1
5362284942.2
5362284943. 3
5362284944. 4

Question Number : 37 Question Id : 5362281270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are part of Sustainable Development Goals?

(A) Industry. Innovation and Infrastructure
(B) Universal higher education

(C) Reduced Inequality

(D) Partnerships to achieve goals

(E) Clean air

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only (2) (A). (C) and (D) only
(3)  (A). (B). (C) and (E) only (4) (B). (C). (D) and (E) only
Options :

5362284945. 1
5362284946. 2
5362284947.3
5362284948. 4

Question Number : 37 Question Id : 5362281270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fafefga 9 @ = 4 @57 gad fasm @& 4 wfas 27

(A)  FE, TEER AR AGEEA
(B) =i = Tomw 3= o

(C)  =/@grar § =i

(D)  =%F 9T FA F e 'EEreE
(E) w=== a4

= fo1 = faeat 0 @ wd = g

(D F= (A). (B). (O) T (D) (2) = (A), (C) =R (D)

(3)  Fa= (A), (B). (C) 3 (E) (4) Fa= (B). (C). (D) 31 (E)
Options :

5362284945. 1
5362284946. 2



5362284947.3
5362284948. 4

Question Number : 38 Question Id : 5362281271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following countries in increasing order of their installed capacities of wind
energy (as on 2018) :

(A) China
(B) India
(C) USA
(D) France

(E) Germany

Choose the correct answer from the options given below :

1) O<®<0)<® <@ @ O@<®<® <0 <@
(3) (D) =B) <((E)<(C)=(A) 4y (E)<(D)<(B)<(C)<(A)
Options :

5362284949. 1
5362284950. 2
5362284951. 3
5362284952. 4

Question Number : 38 Question Id : 5362281271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



frAfefiaa 2o =t 1 Tam et $1 geurug agar (2018 F1 foufd & 99ER) % §ed %9 9 7

@  =m

(B)  und

(C) 4T

D) %=

(E) =

< fot m foet 9 A A 3 R

1) DM=<E=(C)=B) <@ 2) D) <(E)<B)<(C)<®)

3B D=B=<E=0C=A 4) (E)=[D)=@B)=(C)=@A)
Options :

5362284949. 1
5362284950. 2
5362284951.3
5362284952. 4

Question Number : 39 Question Id : 5362281272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Sunlight 1s a pre-requisite for the formation of photochemical smog in urban
areas.

Statement IT : Photochemical smog 1s a recurring phenomenon in winter and summer
seasons 1n urban areas of India.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement Il 1s true
Options :

5362284953. 1



5362284954. 2
5362284955. 3
5362284956. 4

Question Number : 39 Question Id : 5362281272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

wuA (I): 9= &l § e TEEEE - o A % e gd w wee v gaia # |

FA (D) : TFEEIEENT H-FET GG & TE] & § Wawe o dEE § an-an w6 A
r,:ré..|

IUF FYAT % AR ° ARG Ao § @ wE I o
(1) = [ IL3MT 541 & |

(2) FHF 1A 24 =4 & |

(3) U= L@ = g A 11 7em = |

(4) w35 2 g o LT 2|

Options :

5362284953. 1

5362284954. 2

5362284955. 3
5362284956. 4

Question Number : 40 Question Id : 5362281273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Global warming potential of a molecule of a greenhouse gas over different
time spans of decades to 100 years may vary significantly.

Reason (R) : Some greenhouse gases have shorter life times compared to carbon
dioxade.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

5362284957. 1

5362284958. 2

5362284959. 3
5362284960. 4

Question Number : 40 Question Id : 5362281273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Fr=r 21 A fau e 2 TR O w1 Al (A) AR g6 # 9 (R) FaE T R

HITRT (A) : ZorhT © =t 100 =91 = HA- 310 TEEEUe 3 01 =8E 19 & w1 i dfvas am
4 gfg Fa AT amar § wF ST B T E
% (R) : F2 AiaT28 TG1 1 STl He S13 SA9E1ss i 9o 3 HH w6l F |

1) (&) R ®) A T F @ R). A) F 7 ==
@ Q) i ®) 3 T E e R), (A) F A e T
@) (@ ®) T R
(49 (AT FE 2w (R) T 2
Options :
5362284957. 1
5362284958. 2

5362284959. 3
5362284960. 4

Question Number : 41 Question Id : 5362281274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Teacher-Education 1nstitutions belong to which of the following category?

(1) Non-conventional (2) Technical
(3) Professional (4) Skill bazed

Options :

5362284961. 1
5362284962. 2
5362284963. 3
5362284964. 4



Question Number : 41 Question Id : 5362281274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Torerer—foreror oo Fstafag o 4 feg ol § o 27

(1)  TH-ugi (2) TFAT
(3) =THETE (4) =Hrore AT
Options :

5362284961. 1
5362284962. 2
5362284963. 3
5362284964. 4

Question Number : 42 Question Id : 5362281275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Universities of Nalanda. Taxsila and Vikramshila of ancient India are now
all located 1n the Indian Territory.

Statement IT: The entrance test of 1its own kind was prevalent 1n the ancient seats of
learning of India.

In the light of the above statements. choose the most appropriate answer from the options
eiven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement Il 1s incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362284965. 1
5362284966. 2



5362284967. 3
5362284968. 4

Question Number : 42 Question Id : 5362281275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

= 2 T T E

FoH () :  TEH AR ® AE, q@Een AR [GmaEen & Gvarem gaeE § oW qEdE &9 A
A 7 |

FoF (1) : 97 = = 9187 gl § 997 29 AT TR =R TS0 T0ET 26l o |

ST FHUA F AT § IR Gt 3 F Haiae SugEd I I

(1) oA L #2920 2 |

(2) ¥ I 3R I 2A =96 77 7 |

(3)  wua 14 2 g e I a4 =71 2 |
(4) w1 = 77 7 g FoF L5 7 |

Options :

5362284965. 1
5362284966. 2
5362284967. 3
5362284968. 4

Question Number : 43 Question Id : 5362281276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Atal Ranking of higher education institutes and umversities 1s related to achievements in

(1) Basic sciences research

(2) Innovation and entrepreneurship development

(3) Distance mode education

(4) Promotion of environmentally sustainable practices.
Options :

5362284969. 1
5362284970. 2
5362284971. 3
5362284972. 4

Question Number : 43 Question Id : 5362281276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

z=a Tove Tt i favatamemt 1 s e fefafan 3 3 fm soeteat & oy 33 27
(1)  difers fasm gEaE

(2) TETER FH FEEal T

(3) 7 furen wfafy

(4)  TEEEIE = O GURUE Tgaa F Taed

Options :

5362284969. 1
5362284970. 2
5362284971.3
5362284972. 4

Question Number : 44 Question Id : 5362281277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the basic values which can be characterized by the central motivational goal are
related to self transcendence?

(A) Conformity
(B) Power

(C) Benevolence
(D) Universalism
(E) Hedonism

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B)and (C) only
(3) (C) and (D) only (4) (D) and (E) only

Options :

5362284973. 1
5362284974. 2
5362284975. 3
5362284976. 4

Question Number : 44 Question Id : 5362281277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Frald U 3evA (HeE ZTHSHE JH SN hiA-H SEEe god ATCHRIed (Aeh-2THsH) § Heiad 7 ¢
A)  FFE

(B) T

(C)  HerEmEa

(D)  FEHITEE

(B) =mam

Fr T ™ foredl 8 5 wE S 9

(1) #== (A) 3R (B) (2) Fa= (B) 31 (C)

(3)  Fa= (C) 3R (D) (4) A (D) 3 (E)

Options :
5362284973. 1
5362284974.2



5362284975.3
5362284976. 4

Question Number : 45 Question Id : 5362281278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Holistic education 1n ancient India was not just acquisition of knowledge as
preparation for life in this world or Iife beyvond schooling but for complete
realisation and liberation of the self.

Statement I : Values of plura_]is;:a, mutual understan-_:iing and peace constituted the
foundation of holistic education during ancient education.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement IT are true
(2) Both Statement [ and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

5362284977. 1
5362284978. 2
5362284979. 3
5362284980. 4

Question Number : 45 Question Id : 5362281278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



FA (D) :  THEE 9RA A AeTATE e T Ievd 39 WER 3 e Ava el e F aw & e
F1 T T =g FATET FAT A AR A7 Sk qo7 STen wya o i w1 o)

FoA (II) : WA 12 % SAE 9gaane, SA0E 0 S0 9 Aeeeaas) e i g T\ m w1 9

I9GF FUAT o AT § FiEd e § ¥ Hal I 9

(1) w9 IR D2 8 3 |
(2) w13 I =M1 Tt 2 |
(3)  Fw 1T 2 g #94 I 7Ted 2 |
4 w1 awe ? g =e a8 2 |

Options :

5362284977. 1
5362284978. 2
5362284979. 3
5362284980. 4

Sub-Section Number : 3
Sub-Section Id : 53622851
Question Shuffling Allowed : Yes

Question Id : 5362281279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

‘Being value-centred 1s important to the experence of fulfilment 1n my life: Here the thought
has the stamp of the core concept of ‘'value-centred’ and ‘fulfilment’. This 1s good. However, 1t
has yet not moved Into creative 1imagination of how this can be made possible 1n reality.
Thus, 1t runs the risk of becoming an opinion or simply. a nice thought. ‘A value-centred life
1s tough 1n today’s world. This thought formation could arise from a past experience where
life was made difficult by being value-centred. Also. there could be stories and imagined
scenarios being created in the mind. ‘what if...", ‘what if not...", ete. This could be related to
the comfort-seeking nature of the senses and a part of the vital hife-force that wants to take
the easy way out. If one's core essential concept 1z fulfilment, these imaginary formations
can be halted and the thought can be frozen. Now one can note that without the clarity that
the core principle 1s ‘fulfilment’. this imagination will often be allowed to fashion and
complete its formation. This in turn, will affect the quality of our life and the choices made
then may not serve the ‘fulfillment’ value of the individual. The idea force can use its
sanctioning power to move those thought formations that are aligned to the core concept of
‘value-centred hiving’ and fulfilment and make still or reject those thought formations that
fed by fear'. ‘anxiety’. ‘desire for compromised quicker success’. etc. And if a value or 1deal 1=

not clear. it can reach back to the pure mind for further clarity’.

Sub questions

Question Number : 46 Question Id : 5362281280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s needed for self-fulfilment?

(1) Focus on values (2) Stamping of the core concept
(3) good thoughts (4) Experience 1n life
Options :

5362284981. 1



5362284982. 2
5362284983. 3
5362284984. 4

Question Number : 47 Question Id : 5362281281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The thought of value-based life as tough can be attributed to

(A) being value-centred
(B)  past experiences of difficulty
(C) wild imaginations

(D) the inclination to be 1n a comfort zone

Choose the correct option :

(1) (A) and (B) (2) (B)and (D)
(3)  (B)and (C) (4) (C) and (D)
Options :

5362284985. 1
5362284986. 2
5362284987. 3
5362284988. 4

Question Number : 48 Question Id : 5362281282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



How can an individual move away from imaginary formations about value-centredness?
(1) By freezing one's own thoughts of good life

(2) By having nice thoughts about values in life

(3) By being clear about fulfilment of Iife

(4) By being fashionable about the core concept of life

Options :

5362284989. 1
5362284990. 2
5362284991. 3
5362284992. 4

Question Number : 49 Question Id : 5362281283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The vague 1deas of value-centred life for self-fulfillment will

(1) disturb the comforts of life (2) lead to creative imaginations
(3) promote good quality of life (4) reject the very values sought after
Options :

5362284993. 1
5362284994. 2
5362284995. 3
5362284996. 4

Question Number : 50 Question Id : 5362281284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the assertion of the author of the passage?

(1) value-centred life 15 an unclear thought
(2) The principle of value-centredness 1s a difficult proposition to achieve
(3) Many factors aligned with value-centredness are negative in character

(4) Todayv's world 1s not for any value system



Options :

5362284997. 1
5362284998. 2
5362284999. 3
5362285000. 4

Question Id : 5362281279 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension

(eATeriiae e 1 SIYEE Tl FN 3HE HTUE T v HeAr 46 9 50 9 o 39 A

‘g —hfrgd BF1 AT Sfiad § THArT 1 SFI9T U A F T BEeaqel 2 : 791, 3@ faEn g ‘geg—ahfed)

31 ‘uftdrs’ 1 Tehfrga FAFUROT F UWE 2| T8 31 2 | 99, T8 3 9 BT geHens Feu 7 6

ST & 6 anarawa § 38 HE WY A 1 56T 2 | SAe 39F 9% § 9 Aihad ? F FE 95 am

O UF S0 =R S A T 90| F % [Gva ¥ qea-dhiegd S9q Hied & | 39 HEr w5 HE e

F WA T 7 Tl 2, WAl God-hiad B % 0T SEA S S0 23 T A1 | S6E e UH] Fare
3 Hfeqd uftgya 21 wd 2 A A d ghm PP w2, 38 SR w2 ar e, Rz A

]
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... ofg | =77 sfga 7 smw = 1 wfa @ metua = R e 39 aEea SfEa-se # 9e R A
ATeHEEF 0 A9 9EdT & | At i =afga 1 gfga oTavas w9unon gidm 2, 91 = FeuEs

E=T W T S TAl B3N SO HAEE W oaEg TR S Al 2| UF YA ¢ T Odiad fhad
oftam’ 7, sEeht TR & A B wew w um: e o g ee it sata & Sl g 1 9 =

feram = qea Figa e i ufam Fi @hfza sEaron % w@9ey 39 fFEr A 5 afE w9 S
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AT T WiGd B T H HRAT 2 AR A fEn-FE w fER @ o w2 o
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Sub questions

Question Number : 46 Question Id : 5362281280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) qe1 T ST Higd H il (2) TehfZa FTUTON F 9T =i |
(3) = = <hi (4) = AT i |
Options :

5362284981. 1
5362284982. 2
5362284983. 3
5362284984. 4

Question Number : 47 Question Id : 5362281281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



g~ SATITHRA S Fisd 21 7, T2 =R F=ha 4 9 567 7 smanfa 27

(A) Hoa Ffgd sH W
(B)  #AdMA & HieT A9 W

(C) dtﬁ:-!ﬂffl FATST T

(D) W =T H FEfd W

fFeTiea | 5 T e =9

(1) (A 71 (B) (2) (B) # (D)
(3) (B) 3 (C) (4) (C) #r (D)

Options :

5362284985. 1
5362284986. 2
5362284987. 3
5362284988. 4

Question Number : 48 Question Id : 5362281282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

F1E =7 A —Fiad1 % A1 H FETF FA0 F = T

(1)  ¥=2 = % 91 4 594 =1 % [=9=En F =G

(2} W"\r 'E[ H:"q‘ :-'F EI'I:T -EI -HT"F; 'i-*:j-:“{ T |
(3) 9 % ufEm F W% § o9 2 |

Options :



5362284989. 1
5362284990. 2
5362284991. 3
5362284992. 4

Question Number : 49 Question Id : 5362281283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HATH - & 0 geg—higd e + 3508 =

(1)  =Ea = AWE | e sem (2) FoATCHT FoTATT 309 F
(3) = S =R W S o (4) FUiE godi H1 SRR 0

Options :

5362284993. 1
5362284994. 2
5362284995. 3
5362284996. 4

Question Number : 50 Question Id : 5362281284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR % oiEE I SATEHYE R Y

(1)  gea-=hfgd e v 310w fa=m 2 |

(2)  HeA—Higaar =1 fagra gt = o0 wF =i afasnte 2 |
(3)  HeA-Tehfrgddl @ HE(4d 3% FH HULTCA® F=ET 6 7 |
(4) A = TEva T goa wonett % fo T8 2 |

Options :

5362284997. 1
5362284998. 2
5362284999. 3
5362285000. 4



PART II Russian

Section Id : 53622818
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 96
Number of Questions to be attempted : 96
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622852
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OrmeTnTE HDIEO,'_T,H}I[IIfi nmo CMBICITY TJIAaroJl B IIPeITOReHHH. «Ona CMVTHIIACH.

IMOKPACHe A H BCKOUHB CO CTVJIA. B BOJTHEHHH --- II0 KOMHATE.»
(1) mpooeranta (2) 3aberamna
(3) mooDerasa (4) cherana
Options :

5362285001. 1
5362285002. 2
5362285003. 3
5362285004. 4

Question Number : 51 Question Id : 5362281285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMmeTETE HD,IXG,'.T,HH.[IIIE o CMBICIIY TIJaroJi B IIpelIoEeHHH. «Ona CMYVTHIACE.

MOKPACHEe A H BCKOUHB €O CTV/IA. B BOTTHEHHH --- II0 KOMHATE.»
(1) mpoDeramia (2) 3aberana
(3) moberasa (4) coerana
Options :

5362285001. 1
5362285002. 2
5362285003. 3
5362285004. 4

Question Number : 52 Question Id : 5362281286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

OTyeTeTE HDJEG,IHHIIIﬁ Mo CMEBICIIY IJIAaroJI B IIPpeTJIOFHeHITH. HaHCH}’pCGBGf_—L IeIRIH

Tac.. — HAC II0 BREICTABEHE.?

(1) MOBOTHII (2) cBommI
(3) OPpoBOIHTT (4) He 13 BEINIeVEA3IAHHEIX
Options :

5362285005. 1
5362285006. 2
5362285007. 3
5362285008. 4

Question Number : 52 Question Id : 5362281286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTmeTETE HD,IPLG,'.T,HH.[IIIE’ 0o CMBICTTY IJIaraJl B IITpeTJIOEEeHIMH. HaHCH}"pCGBGf_—L ITEJIRII

Tac.. — HAC II0 BRICTABEE.»

(1) MOBOTHII (2) cBoomm
(3) OpPOoBOIHII (4) He 13 BREINIeVEASAHHBIX
Options :

5362285005. 1
5362285006. 2
5362285007. 3
5362285008. 4

Question Number : 53 Question Id : 5362281287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

OtmeTmTE IIG,'_T,XGJHIIIHI':.I o CMBICIY IJIaroJdi B 2ITPpedJIOoFReHHH. «Ha wamune

IOIyTelneCTBeHHHEH --- BCHO CTpaHY BIO0OJIb H HDHEpéH.H

(1) H3Be3THIIH (2) Doesmmmm
(3) CBE3THIH (4) vesmmmn
Options :

5362285009. 1
5362285010. 2
5362285011. 3
5362285012. 4

Question Number : 53 Question Id : 5362281287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTmeTETE IICJ,'.T,XG.:[HIIIHI& o CMBICIIY #IJIaroJI B 2ITpedJIoFreHHIH. «Ha wamunsae

nyTemecCTBeHHHEKH --- BCH CTPAHY BOOJIE H HDHE‘péH.H

(1) H3Be3IHIH (2) moesmmmH
(3) CHE3IHIH (4) vesmmmm
Options :

5362285009. 1
5362285010. 2
5362285011. 3
5362285012. 4

Question Number : 54 Question Id : 5362281288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
OTmMeTETe IPABIIIBHEIN OTEET M3 TAHHEIX HIKE BAPHAHTOB B npemnosxenni: «[losThr.
HEMOCPEeICTBEHHO --- €O CBOMMH YHTATEIAMH. JVUIIe NPeICcTABIAKIT cebe, IId KOro

OHH IITHITTYT.*»

(1) BCTPEeYANIITHECT (2) BCcTpeuaBmIHecH
(3) BCTpeuamnInuecyd (4) BCcTpeuamNDIHe
Options :

5362285013. 1
5362285014. 2
5362285015. 3
5362285016. 4

Question Number : 54 Question Id : 5362281288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtmeTsTe Hpﬂ.BII.‘IBHBIfI OTEeT H3 TaHHBX HHEEe BAPHAHTOE B IIPpeII0OFECeHHH. «]loaTeL.
HelloCpeldCTBeHHO --- €0 CBOHMH YHTATe /IAMM. JIVUIINEe IIPpeIdCTaBJIART cede. I KOO

OHH IIHIITVT.»

(1) BCTPEeYAINHECT (2) BCcTpeuaBmIHecH
(3) BCTpEYaImiecd (4) BcTpedamNIIHe
Options :

5362285013. 1
5362285014. 2
5362285015.3
5362285016. 4

Question Number : 55 Question Id : 5362281289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtymeTeTe HPEBIIJIBHBIIUI OTBeT H3 TaHHBIX HHEEe BapPDHaHTOB B ITpe IO eHHH. « --- H3

Hac He IMOoOHpPpaBHJIOCE €TI0 BRICTVILISeHIIS. »

(1) Heromy (2) Huromy
(3) HuxTo (4) Herxoro
Options :

5362285017. 1
5362285018. 2
5362285019. 3
5362285020. 4

Question Number : 55 Question Id : 5362281289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtmeTmTE HPEBIIJIBHBIIUI OTEeT H3 JaHHBIX HHXEe BAPHAHTOE B IIpedIJTOXHEHHIH. « --- H3

Hac He IMOHpPaBHJIOCE €TI0 BRICTVILIISeHIE . »

(1) Heromy (2) Huxomy
(3) HuxTo (4) Heroro
Options :

5362285017. 1
5362285018. 2
5362285019. 3
5362285020. 4

Question Number : 56 Question Id : 5362281290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTyeTeTe HPHBII.T[BHI:»IIUI OTBEeT H3 TaHHRX HHEEC BAPHAaHTOB B IIpelT0FcHIH. *Z‘Hj'}'HHD

CIIPOCHTE 00 3TOM --- M3 UJIeHOB KOMHTETA.»

(1) KTO-TO (2) Eoro-TO
(3) V KOT0-HHOVIB (4) xoe KoMy
Options :

5362285021. 1
5362285022. 2
5362285023. 3
5362285024. 4

Question Number : 56 Question Id : 5362281290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtyeTreTE HPHBII.T[BHBIIUI OTBeT Hs TaHHBIX HHAEC BAPHAaHTOEB B IIpelI0FeHITH. *Z‘Hj'}'HHD

CITpOCHTE 00 3TOM --- 13 UWJIeHOB KOMHTETA.»

(1) KTO-TO (2) Ekoro-to
(3) V KOTO-HHOVIE (4) EKoe ROMYV
Options :

5362285021. 1
5362285022. 2
5362285023. 3
5362285024. 4

Question Number : 57 Question Id : 5362281291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OrymereTe npaBmabHBEIE ¢opMEl  (KpaTkme |/ IIOJHEIE) [OPHJIATATEIBHEIX B
IMpeIIoEeHHH: «3TO IIJIaThE He ---. HO €M 0HO --- .»

(1) KOPOTKOe. KOPOTHKOe (2) EKopOTHKOE. KOPOTKO

(3) KOPOTEKO. KOPOTEO (4) KOpPOTKO. KOPOTKOE
Options :

5362285025. 1
5362285026. 2
5362285027. 3
5362285028. 4

Question Number : 57 Question Id : 5362281291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OrmerpTe nOpaBuIBHEIE dopMEI  (KpaTEHe /| IIOJHBIE) IIPHJIATATEIBHEIX B

IpeII0oKEeHHH: «JTO IIJIaTEE He ---. HO € 0HO --- .»

(1) KOPOTKOE. KOPOTKOe (2) KOpOTKOEe. KOPOTKO
(3) KEOpPOTEKO. KOPOTEOD (4) KOpPOTKO. KOPOTHOE
Options :

5362285025. 1
5362285026. 2
5362285027. 3
5362285028. 4

Question Number : 58 Question Id : 5362281292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B xaroym us CINeIVIONTHX CJIOB ITPOHCXOTHT DI'.,'I}'I.TIE‘-HIIE?

(1) cropent (2) coenaTtp
(3) 0TTrazaTh (4) TpyOKa
Options :

5362285029. 1
5362285030. 2
5362285031. 3
5362285032. 4

Question Number : 58 Question Id : 5362281292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B krakoM H3 clIeIyHOIIHX CI0B IPOHCXOIHT OrJIVIIeHHe

(1) CTOpen (2) coemaTs

(3) 0TTraIaTh (4) TpyOKa



Options :

5362285029. 1
5362285030. 2
5362285031. 3
5362285032. 4

Question Number : 59 Question Id : 5362281293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Iafite onmpenenenne 3svea [bl]:

(1) TITACHEIH CpeIHEero pAIa BEICOKOTO MOTREMA

(2) IJIACHEIH IIepeIHero pAIa BEICOKOTO MOTREMA

(3) TJIACHBIH 3a0HET0 PAIA BREICOKOTO IIOIBEMA

(4) TJIACHEIN cpedHero PANAa cpelHero NoIBeEMAa
Options :

5362285033. 1
5362285034. 2
5362285035. 3
5362285036. 4

Question Number : 59 Question Id : 5362281293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Iafite onpenenenne 3vra [bl]:

(1) TJIACHEIH CPeIHET0 PAIA BEICOKOTO MOTBEMA

(2) IJIACHEIH IMepeIHero pAIAa BEICOKOTO MOTREMA

(3) TJIACHBIH 3a0HET0 PAIA BEICOKOTO IIOTREMA

(4) TJIACHEIN CPeOHEro PATA CPeTHETO MIOTBEMA
Options :

5362285033. 1
5362285034. 2
5362285035.3
5362285036. 4

Question Number : 60 Question Id : 5362281294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kakoit u3 cnefywImux 3BYKOB OLpeJle/IHeTCA KaK i eJI0BOH 10 cnocody obpasoBaHnA H
cpegHe-A3EMHEIN 10 MecTy oOpazoBaHus?

(1) [T] @ [H]
3 [H] (4 [II]
Options :

5362285037. 1
5362285038. 2
5362285039. 3
5362285040. 4

Question Number : 60 Question Id : 5362281294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Kakoit u3 cneayoIIux 3BYKOB OLIpeJle/IHeTCA KaK i eJI0BOH 10 crnocody obpasoBaHHA H
CpegHe-A3EMHEIN II0 MecTy oOpasoBaHHA"

1 [T @ [
(3  [H] (4 [1I]
Options :

5362285037. 1
5362285038. 2
5362285039. 3
5362285040. 4

Question Number : 61 Question Id : 5362281295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

BOHPOCHTEH BHOE MnmpedloXFeHIIe C BOITpOCHTE IHHBIM CJIOBOM OTHOCHTCH E

HHTOHA I.I,IIOHHOfI HOHCTPVEITHH.

(1) HE-2 2) HEK-4
(3) HMEK-1 4 HEK-3
Options :

5362285041. 1
5362285042. 2
5362285043. 3
5362285044. 4

Question Number : 61 Question Id : 5362281295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



BOHPGCHTE‘H BHOE npelToXeHHIe C BOITPpOCHTE IEHBIM CJIOBOM OTHOCHTCHA E

HHTOHAITHOHHO 151 HOHCTPVEITITH.

(1) HEK-2 2) HEK-4
(3) HK-1 4 HER-3
Options :

5362285041. 1
5362285042. 2
5362285043. 3
5362285044. 4

Question Number : 62 Question Id : 5362281296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtMmeTmTE. E HeMyV MOEHO OTHEeCTH IIapy CJI0B. “KOKHBH (OTHOCAINHICA K I{G}I‘.‘.E'}J} H

«KOEAHBIH (COeTAHHEIN H3 KOEH )’

(1) E AHTOHIIMAM (2) K cHHOHIMAM
(3) B OMOHHMAM (4) =& mapoHHMaM
Options :

5362285045. 1
5362285046. 2
5362285047. 3
5362285048. 4

Question Number : 62 Question Id : 5362281296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtmeTmTE. E HeMyV MOEHO OTHECTH IIapy CJI0OB. “KOKHBH (OTHOCAINHICA K I{G}I‘.‘.E‘-}H H

«KOXAHEBIH (cOeIaHHEIH H3 KOEH)» |

(1) K AHTOHHMAM (2) K cHHOHHMAM
(3) K OMOHHMAaM (4) & mapoHHMAaM
Options :

5362285045. 1
5362285046. 2
5362285047. 3
5362285048. 4

Question Number : 63 Question Id : 5362281297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtyersTe. o Kakoil IIPHYHHE CJIOBA « 3a0VIbh » B sSHAYUCHHH « HAYATE OVTE » H « 3aTVTh »
B SHaAYCHHH «ITIOTACHTB» 3BYHAT OJHHAKOBO XOTH OHH He HMeHNT HHYero GEIIIE&I'D E CBEOHX

SHaYeHHAX

{1} IIOTOMY YWTO CIA0BO. 3aHMCTBOBEAaHHOE H CTI0BO. HCHEHOHHO PVCCHEOE., COBIIAIH

C.Z'Ij"‘-IE.IUIHG B CBOEM MpOHSHOIITeHITH.

(2) MOTOMY UTO NOPHXOIAT M3 PA3HBIX HHOASBEYUHEBEIX H3BIKOB € PASHEIMH
SHAYeHHAMH.

(3) IIOTOMY 9UTO OHH B3SATEI H3 OQHOIO S3EBIKA.

(4) IOTOMY UTO OHH BO3HHKJIH B IIPOIlecce CIIOBOOOPA30BAHHA OTHOKOPHEBEBIX CJIOB

PYVCCEOI'D A3BIKA.

Options :
5362285049. 1



5362285050. 2
5362285051. 3
5362285052. 4

Question Number : 63 Question Id : 5362281297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTyeThbTe. IO KAKOH IIpHYHHE CJ0BA « 3aIVTh » B SHAYCHHAH « HAaYaTE IVTEh » H « 38aIVTh »
B HAYECHHH «IIOTAaCHTB» 3BYVYAT OTHHAKOBO X0TH OHH He HMeHNT HHYEeI O GEIIIBI'D E CBOHX

SHAYeHHIAX,

“.:I ImoToMY YWTO CIOBO. 3aHMCTBOBaHHOE H CIT0BO. HCEOHHO PVCCHOe. COBIIAJITH

C.Z'Ij'_'-IE.IUIHD B CBOEM MNIpoHFHOIITeHIH.

(2) IIOTOMY YTO MNPHXOIAT H3 pPa3HBIX HHOASRYHEIX H3BIKOB € pa3HBIMH
3HATEHITAMH.

(3) IMOTOMY 9UTO OHH B3ATEI I3 0THOTO A3RIKA.

(4) IOTOMY 4UTO OHH BO3SHHKJIH B IIpoIlecce CJI0B00OpAa30oBAHHA 0IHOKOPHEBBIX CJIOB

PVCCEOID A3BIHA.

Options :

5362285049. 1
5362285050. 2
5362285051. 3
5362285052. 4

Question Number : 64 Question Id : 5362281298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTBETe. K KAKOH H3 CIeIVIOITHXE T'PVIIIl CJI0B MOEHO OTHeCTH CJI0OBO «3EMCTBO»

(1) K apXam3aMaM (2) & Heomorm3mMaM
(3) K HCTOpH3MAaM (4) K cTapocIaBaAHH3IMAaAM
Options :

5362285053. 1
5362285054. 2
5362285055. 3
5362285056. 4

Question Number : 64 Question Id : 5362281298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMmeTeTe. K Kakol H3 CIIe JVIOIMMHX T'PYVIIIlL CJI0B MOXHO OTHECTH CJIOBO «3eMCTBO» .

(1) E APXAH3IMAM (2) K HeoTOTH3MAM
(3) K HCTOPH3MAaM (4) K cTapocIaBAHH3IMAM
Options :

5362285053. 1
5362285054. 2
5362285055. 3
5362285056. 4

Question Number : 65 Question Id : 5362281299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTETE. K KakKOMY THIOV PPaseoTOTHIMOEB OTHOCHTCH CIOBOCOUETAHHE «BeK HHBM.
BEK VUHCE».

(1) E GpaseoIoTHIecKoMY CPANIEHITH

(2) K ¢ppaseoIorHIecKOMY €IHHCTBY

(3) K $paseoIoTHISCKOMY COUeTAHID

(4) K ¢paseoIorHUecKOMY BREIPAKeHITIO
Options :

5362285057. 1
5362285058. 2
5362285059. 3
5362285060. 4

Question Number : 65 Question Id : 5362281299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTE, K KaKOMV THIIV (pa3eooTH3MOB OTHOCHTCH CJIOBOCOUETAHHE «BeK KHBH.
BEeK VUHCE».

(1) K ¢paseoIorHIecKOMY CPanIeHHn

(2) K ¢paseo/IoTHIECKOMY €IHHCTBY

(3) K ¢paseoTorHUYeCcKOMY COUETAHIMD

(4) K ¢ppaseoIorHuIecKoMY BEIPAHEeHHIO
Options :

5362285057. 1
5362285058. 2
5362285059. 3
5362285060. 4

Question Number : 66 Question Id : 5362281300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

OTMmeTpTe. Kakoe H3 CIIeIVIOIOTIIX 3HaAUYeHHII He BhRIpa®EaeT HE‘-GI’IPE‘,‘.‘LEJI{':'}HHE.H {j}opna
riaarojga. T.e. IfIHIIbIII-IIITII]E!‘?l

(1) 3HadYeHHe BHIA

(2) 3HadYeHHe BpeMeHH

(3) 3HaYeHIe 3a7I0Ta

(4) 3HaYeHHe MepeXoTHOCTH H HellepeX0oIHOCTH
Options :

53622850061. 1
5362285062. 2
5362285063. 3
5362285064. 4

Question Number : 66 Question Id : 5362281300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtmeTeTE. Kakoe H3 CIIe DVHOIOTHX 3HadYeHHH He BHIpa®acT HE‘-GHPE‘,‘.‘LEH{%HHE_H {j}@p}la
riarotjga. T.e. If‘IH'li)III-IIEITII]EE‘?l

(1) 3HaYeHHe BHIA

(2) 3JHadYeHHe BpeMeHH

(3) 3HaYeHHe 3a7I0Ta

(4) 3HavdeHHe IIepeX0IHOCTH H HellepeX0oIHOCTH
Options :

5362285061. 1
5362285062. 2
5362285063. 3
5362285064. 4



Question Number : 67 Question Id : 5362281301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTmeTkTe. UTO H3 CIIeIVIOIITHY He ABIAeTCH YacThH IIIIE"':IIIt:J

(1) CYVIIECTBHTEJIBHOE (2) wmecToHmMeHHe
(3) ClIoEeHHe (4) EKaTeropHda COCTOZHHA
Options :

5362285065. 1
5362285066. 2
5362285067. 3
5362285068. 4

Question Number : 67 Question Id : 5362281301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTmeTkTe. UTO H3 CIIeIVIOIITHY He ABIAeTCH YacThH IIIIE"':IIIt:J

(1) CYVIIECTBHTEJIBHOE (2) wmecToHmMeHHe
(3) ClIoEeHHe (4) EKaTeropHda COCTOZHHA
Options :

5362285065. 1
5362285066. 2
5362285067. 3
5362285068. 4

Question Number : 68 Question Id : 5362281302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMmeThTe. K KaKoH Tpy¥IIne CYIIeCTBHTEIBEHBIX OTHOCHTCH CJIOBO f<}IG."TD,'_T,DCTL>}?

(1) K COOMPATENBHEIM CVIIECTEHTE IBHEIM

(2) K OTBJIeYEHHBIM CYINEeCTBHTE ILHBIM

(3) K BelleCTE€HHEIM CYVIIeCTBHTE IBHBIM

(4) K KOHKPeTHBIM CYIIeCTBHTe/IbHEIM
Options :

5362285069. 1
5362285070. 2
5362285071. 3
5362285072. 4

Question Number : 68 Question Id : 5362281302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTtMmeTBTE. E Kakoll T'p¥IiIie CYOIeCTEHTE/IBHBIX OTHOCHTCA CJIOBO H}IDH{}:GCTL}}?

(1) K COOHPATENEHEIM CYILECTEHTE IBHEIM

(2) K OTBJIeY€HHEIM CYIIeCTBHTE IEHEBIM

(3) K BellleCTEEHHEBIM CYIIeCTBEHTE IBHEIM

(4) K KOHKPEeTHBIM CYIIeCTBHTEIbHBIM
Options :

5362285069. 1
5362285070. 2
5362285071. 3
5362285072. 4

Question Number : 69 Question Id : 5362281303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtmeTnTe. EH HavrEOoMY 3a10TyY OTHOCHTCA TIarojga. Korda oOH 0bo3HAaUaeT BHVTpeHHEeS
COCTOAHHe C}'ﬁ'BE'HTE.. er0 HACTpOoeHHe HEPE‘-}I{I’IBE{HI’IE‘?

(1) K cOOCTE€HHO BO3BEDPATHOMY (2) K ODmIEBO3SBPATHOMY
(3) K B3aIMO-BO3BPATHOMY (4) X KOCBeHHO- BO3BpPaATHOMY
Options :

5362285073. 1
5362285074. 2
5362285075. 3
5362285076. 4

Question Number : 69 Question Id : 5362281303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0

OtmeTnTe. EH HavrEOoMY 3a10TyY OTHOCHTCA TIarojga. Korda oOH 0bo3HAaUaeT BHVTpeHHEeS
COCTOAHHe C}'ﬁ'BE'HTE.. er0 HACTpOoeHHe HEPE‘-}I{I’IBE{HI’IE‘?

(1) K cOOCTE€HHO BO3BEDPATHOMY (2) K ODmIEBO3SBPATHOMY
(3) K B3aIMO-BO3BPATHOMY (4) X KOCBeHHO- BO3BpPaATHOMY
Options :

5362285073. 1
5362285074. 2
5362285075. 3
5362285076. 4

Question Number : 70 Question Id : 5362281304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0

No

No



OtmeTeTe. E Kakol H3 CIeIVHINHX TI'PYIIl IpelloroB OTHOCHTCH IIPpedJIor +«B

OTHOIOeHIH» |

(1) IpoCcThle OIpe I0TrH (2) craoxHBIE TPeIJIOTH
(3) COCTABHEIE IIPeIorH (4) CcI0XHO-COCTABHEIE IIpPeIIOrH
Options :

5362285077. 1
5362285078. 2
5362285079. 3
5362285080. 4

Question Number : 70 Question Id : 5362281304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtmeTeTe. E Kakol H3 CIeIVHINHX TI'PYIIl IpelloroB OTHOCHTCH IIPpedJIor +«B

OTHOIOeHIH» |

(1) IpoCcThle OIpe I0TrH (2) craoxHBIE TPeIJIOTH
(3) COCTABHEIE IIPeIorH (4) CcI0XHO-COCTABHEIE IIpPeIIOrH
Options :

5362285077. 1
5362285078. 2
5362285079. 3
5362285080. 4

Question Number : 71 Question Id : 5362281305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTmeTwTE. IIo HaKOoMY JIeHCHYe CEOMY HaveCTBY BRI TAETCH HadueCcTEeHHOS

OpHJIaraTe/IbHOe «Xpaopheiiin’

(1) bHU3MUeCKHEe KAYecTBa
(2) CBOCTEA M KAYECTBA BeIIel. BOCIIPHHHMAEMEIE OpPTaHAMI YVBCTB
(3) IVXOBHEIE KAYUECTBA JTHIeH
(4) OpOTAXEHHOCTE. MOJIOKEeHHEe B IIPOCTPAHCTEE
Options :

5362285081. 1
5362285082. 2
5362285083. 3
5362285084. 4

Question Number : 71 Question Id : 5362281305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OrmeTnTE. IIo HaHOMY JIEHCHYEe CEOMY HaYvecCcTBY BRIOEeIAETCA HadeCTBeHHOE

OpHJIaraTeIbHOe «Xpadpheiiin’

(1) ¢13MIecKIe KATECTBA
(2) CBOICTEA M KAYECTEA BeIlell. BOCTIPHHHMAEMEIE OPTAHAMII UYVBCTB
(3) IVXOBHEIE KAYeCTBA JIIIeH
(4) IPOTAXKEHHOCTE. MOJIOKEeHHEe B IIPOCTPAHCTEE
Options :

5362285081. 1
5362285082. 2
5362285083. 3
5362285084. 4



Question Number : 72 Question Id : 5362281306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtmeTsTe. ciocod 00pa30BaHNA CJIOBO « BATOH-PECTOPAH » !

(1) abdurcammna (2) abbOpeBHamms
(3) pPeldepBalllld (4) craoxEeHHe
Options :

5362285085. 1
5362285086. 2
5362285087. 3
5362285088. 4

Question Number : 72 Question Id : 5362281306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtMmeTrTeE. CITOCOD Dgpi'iSDBHHIIH CJIOBO « BArOH-pecTOopaH » .

(1) abpduKcanng (2) abOpeBHAIIHHA
(3) peIepEaALlIlAd (4d) cIaoxeHIE
Options :

5362285085. 1
5362285086. 2
5362285087. 3
5362285088. 4

Question Number : 73 Question Id : 5362281307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTreTBTe KaKoe H3 CIIeJYVIOIMHX CJIOB GEIPE.SGBB.H'D IMTPH IMOAMOIT HDCTd}HHCﬁHIIH‘?

(1) pacnoicaTb (2) EKTo-HHMOVIB
(3) CORVPCHHE (4) Oe3vVMHEBIH
Options :

5362285089. 1
5362285090. 2
5362285091. 3
5362285092. 4

Question Number : 73 Question Id : 5362281307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTreTETe KaKoe H3 CJIedYVIINMHX CJI0OB GEIPB.SGBE{HD IMTPH IMOAOIT HDCTd}HH(‘-HHIIH‘?

(1) pPacCIHCATH (2) EKTo-HHOVIB
(3) COKVPCHHEK (4) Oe3VMHERII
Options :

5362285089. 1
5362285090. 2
5362285091. 3
5362285092. 4

Question Number : 74 Question Id : 5362281308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeThTe. Kakoe H3 CIeIVEOIITHX CITOBOCOYETAHIE ABIAETCH I—I!.':‘!lﬂflE!'CIlaICJ,'_T,HBI_"'-Ir."I

(1) TATE KHUTY VIEeHHKY

(2) VMHBIH YeT0BEeK

(3) KOHTpOJIBHAHA pabora

(4) OHTE DAKIIVIOH
Options :

5362285093. 1
5362285094. 2
5362285095. 3
5362285096. 4

Question Number : 74 Question Id : 5362281308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTyeTeTe. Kakoe H3 Clle TVEOIITHX CIOBOCOYETAHII ABIAeTCH I-I!.?!(}]ESIZZI'E;ICJ,'_'I;HE»IZ'-I‘::I

(1) TATE KHUTY VIeHHKY

(2) VMHEBIH UeT0BEeK

(3) KOHTpoOJIbHAHA paboTa

(4) OHTE DAKJIVIOH
Options :

5362285093. 1
5362285094. 2
5362285095. 3
5362285096. 4

Question Number : 75 Question Id : 5362281309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTETe. B KAKOM I3 CITe TV CIOBOCOUETAHIIH BCTpeYaeTCHd HeCOlITACOBAHHOE

onpeIe/leHHe

(1) OyMAra B KJIeTOUIKY (2) TpwH HoIbIIHEe KOMHATEI

(3) 3TH KHHTH (4) viIBIDaOImeecd JIHID
Options :

5362285097. 1
5362285098. 2
5362285099. 3
5362285100. 4

Question Number : 75 Question Id : 5362281309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeTBETE. B KaKOM H3 CITe TV CI0OBOCOUYETAHIII BCTpedaeTCcHd HeCcOolJIacOBaHHOE

ompegeTeHHe’

(1) OyMara B KJIeTOIKY (2) TpH DoJIBIIHE KOMHATEI

(3) 3TH KHHTH (4) viIBIOaOIIeecHd JIHIO
Options :

5362285097. 1
5362285098. 2
5362285099. 3
5362285100. 4

Question Number : 76 Question Id : 5362281310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMmeThTe. KakKoH THI 00CTOATEIBCTBA BCTpe4dYaeTCd B IIpelTJIOHEeHHI: {prH 'aBICTpG}I

TAAHHNH cHETra BoJa cOeraJjia co B3TopKa. HANIOIHAIA IpYI...»,

(1) 00CTOATEIBCTRBO VCIIOBHA (2) obCTOATENBCTBO IIe IH
(3) 00CTOATEIRCTEO VCTVITKH (4) obcToATEeNBCTEO NPHYHHEL
Options :

5362285101. 1
5362285102. 2
5362285103. 3
5362285104. 4

Question Number : 76 Question Id : 5362281310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeTETE. KaKoH THI 0DCTOATEJILCTBA BCTpeYaeTCHd B IIPpedJIOEKeHIII. if]._.[PH EJBICTI}D}I

TAAHHH cHeTra BoJa cOerajia co B3TopEKa. HANOJIHAIA OpYI... ».

(1) 00CTOATENIBCTBO VCIIOBHA (2) 00CTOATENBCTEO IIeIH
(3) 0DCTOATEIBCTBO VCTVIIKH (4) obcTOATENBCTEO NPHYHHEL
Options :

5362285101. 1
5362285102. 2
5362285103. 3
5362285104. 4

Question Number : 77 Question Id : 5362281311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTmeTrTE NMpaBHJIbHOE sHAYTEHHE p}'ﬂCRDﬁ HIHOMEI HHPFEHTBCH KAK DEeJIKA B KOJIece»

Ha aHTIHICKOM A3BIKE:

(1) to be frantically busy (2) to be on tenterhooks
(3) to fight in vain (4) to live in poverty
Options :

5362285105. 1
5362285106. 2
5362285107. 3
5362285108. 4

Question Number : 77 Question Id : 5362281311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OtmeTsTE INIpaBHJIBHOE SHAaYEHHE p}'CCHDﬁ HITHOMBI ﬂ'HPj"H‘EHTbCH KAk 0eJIKA B KOJece»

Ha aHTJIHICKOM A3BIKE:

(1) to be frantically busy (2) to be on tenterhooks
(3) to fight 1n vain (4) to live 1n poverty
Options :

5362285105. 1
5362285106. 2
5362285107. 3
5362285108. 4

Question Number : 78 Question Id : 5362281312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTETe MpaBHILHEIN 3EBHBAIEHT cokpanieHnd « World Peace Councily:

(1) Beerymmprrii coset (2) BeemmpHEI coBeT MHpPAa
(3) Muposoii coseT Mupa (4) SBexHOH coBeT MHpa
Options :

5362285109. 1
5362285110. 2
5362285111. 3
5362285112. 4

Question Number : 78 Question Id : 5362281312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeTETe MpaBHILHEIN 3EBHBAJIEHT cokpanieHnd « World Peace Councily:

(1) Beeymmpreii coser (2) Beemupueni coseT Mupa
(3) Muposoii coseT Mupa (4) SBexHOI coBeT MHpaA
Options :

5362285109. 1
5362285110. 2
5362285111.3
5362285112. 4

Question Number : 79 Question Id : 5362281313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ha YVPOBHe YWeI0 ITPOHCEOIHT IIepeB0Od IJaHHOTO AHTTHHCKOTD IIpedJIodHReHHAd Ha

pvecKHE?

«Slow, men at works» - « Taxuil xox. DopoxHEIe padoTED

(1) HA VPOBHE CJI0B (2) =Ha vpoBHe Mopdiem
(3) Ha VPOBHE CII0BOCOUYEeTAHMI (4) Ha VvpoBHe OperToKeHHH
Options :

5362285113. 1
5362285114. 2
5362285115.3
5362285116. 4

Question Number : 79 Question Id : 5362281313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ha YPOBHe [WeIl0 IIPOHCEOIHT IIepeBOd IJaHHOTO AHTJTHHCKOTO IIpelJJoXReHHAd Ha

pveckui?

«Slow, men at works» - « Tuxuii xox. JopoEHEIE paboTED

(1) HA VPOBHE CIIOB (2) Ha vpoBHe Mopdiem
(3) Ha YPOBHE CII0BOCOUEeTAHHH (4) Ha VpOBHe MpelTo:ReHNH
Options :

5362285113. 1
5362285114.2
5362285115.3
5362285116. 4

Question Number : 80 Question Id : 5362281314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

OTmMeTETe MpABHUIBHEIN IepeBoa aHrIHiickoro npergtoxennd «I think the past should
definitelv be preserved however bad 1t might have been.»:

(1) A cumTam. uTo mpomlToe HenpeMeHHO HAaT0 Oepedb. KakKoe OBl IIJTOX0e OHO HH
OBLIIO

(2) A cunTam. YTo mpoinsIoe HempeMeHHO HAIO ODepedb. Kakoe OBl ILIOXOE OHO He
OBLIIO

(3) fl cunTaw. uyTo NponiIoe HellpeMeHHO HATO Oepedb,. KaKoe OEBI IIJIOX0e OHO OBLIIO

(4) A cunTan. yTo mponToe HelpeMeHHO HATO Oepeyb, Kak OBl IIJI0X0 OHO OBIIO

Options :

5362285117. 1
5362285118.2
5362285119.3
5362285120. 4

Question Number : 80 Question Id : 5362281314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTmeThTe MpaBUIBHEII NepeBod aHIIHIckoro npegaoxennd «1 think the past should
definitelv be preserved however bad 1t might have been.»:

(1) A cumTamw. uTO HmpomToe HenpeMeHHO HAaT0 Oepedyb. Kakoe OBI ITOX0E OHO HH
OBLIIO

(2) f cunTam. 4To mpoinioe HenpeMeHHO HAIO Oepedb. KaKoe ORI ILJIOXOe OHO He
OBLIIO

(3) A cunTam. yTo mponIoe HepeMeHHO HAIO Oepeub. Kakoe OBl MIJI0X0e 0HO OBLIIO

(4) fl cunTaw. uyTo NDponiToe HellpeMeHHO HATo Oepedh, Kak OBl ILJIOX0 0HO OBLIO

Options :



5362285117. 1
5362285118. 2
5362285119.3
5362285120. 4

Question Number : 81 Question Id : 5362281315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 2 Wrong Marks : 0

OTyMeThTe TpaBUIBHEIN NOIXOIAMINI HepeBoI aHIIHIIckoro BeIpaxeHHA «Utterly
irrelevant.»:

(1) Hu »eHoro 5 mamo (2) Hmu 3a 9T0 Ha cBeTe
(3) Hu & ceny Hu & ropoay (4) Hmux novxa gu nepa!
Options :

5362285121. 1
5362285122.2
5362285123. 3
5362285124. 4

Question Number : 81 Question Id : 5362281315 Question Type : MCQ Option Shuffling : No Is Question Mandatory
Correct Marks : 2 Wrong Marks : 0

OTMeThTe NpaBHILHEIN NOIXOIANIHI IepeBol aHIIHIIckoro BeIpameHua «Utterly
irrelevant.»:

(1) Hu yeHoOro a1 Mmamo (2) Hmu 3a 9To Ha ceeTe
(3) Hu ® ceny Hu & ropoay (4) Hwu novxa mu nepa!
Options :

5362285121. 1
5362285122.2
5362285123.3
5362285124. 4

: No



Question Number : 82 Question Id : 5362281316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OrmeTeTe. K Kakoll NepeBOoOUecKOl 3aMeHe OTHOCHTCH CAeIVIOIIHI IIepeBod ¢
AHT THIHCKOIO Ha PVCCKHT

«He really felt pretty lousy about flunking me.» - «Emv 0npL10 3m0poBO He mo cebe
OTTOTO. UTO OH MeHd IPOBATHII.Y

(1) JaMeHa IpPoCcToTo OpeII0EeHHA CII0EHBIM

(2) 3aMeHa CJO0KHOIO IPeII0:EKeHHA IPOoCTEIM

(3) 3aMeHA MOTYHHeHHT COUHHeHHeM

(4) 3anMeHaA COM3HOI CEH3H 0ecCo3HOI
Options :

53622851251
5362285126. 2
5362285127.3
5362285128. 4

Question Number : 82 Question Id : 5362281316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OtmerTbTe. K EKakoll IepeBogueckol 3aMeHe OTHOCHTCH CJAeIVIOIIHI IIepeBod C
AHI THICKOIO Ha PYCCKHI!

«He really felt pretty lousy about flunking me.» - «Emyv 0rL710 3m0poBO He mo cebe
OTTOT0. YTO OH MEeHHA IPOBAJIHILY

(1) 3aMeHa IPOCTOTro NpedIokKeHHA CI0KHEBIM

(2) 3aMeHa CJIOKHOI0 NIpelIoKeHHA IIPOCTEIM

(3) saMeHa MOTYHHeHHA COUHHeHHeM

(4) 3aMeHa COKN3HONI CBA3SH Deccomn3HOH
Options :

5362285125. 1
5362285126. 2
5362285127. 3
5362285128. 4

Question Number : 83 Question Id : 5362281317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe DpaBHIBHEIN NepeBol aHIIHICKOTO HpellodkeHHd « ] heyv had nothing to
talk about.»:

(1) My 5 0 wéy OBLIIO TOBOPHTE.

(2) Hn me o0 uén OBLTIO TOBOPHTD.

(3) YV HUX Heuero OBLTIO TOBOPHTD.

(4) Y HHX He 0 uéM OBLIO TOBOPHTE.
Options :

5362285129. 1
5362285130. 2
5362285131. 3



5362285132. 4

Question Number : 83 Question Id : 5362281317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe DpaBUIBHEII HMepeBoI AHIIHICKOTD HpelloikeHHdA « ] hev had nothing to
talk about.»:

(1) M 51 0 9éy1 OBLIIO TOBOPHTE.

(2) My se 0 uénM OBLTIO TOBOPHTD.

(3) Y HUX Heuero OBLTIO TOBOPHTD.

(4) Y HHX He 0 uéM OBLIO TOBOPHTE.
Options :

5362285129. 1
5362285130. 2
5362285131.3
5362285132. 4

Question Number : 84 Question Id : 5362281318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe. Kak HasbIBaeTCH B MeTOOIHEe IIpellIoTaBaHHEA ITPOITeCC. HEHPHB:IEHHBIf’I HAa
COXpaHeHHe B IIaMATH IIOJIVIeHHBIX BIIeYAT/IeHHIT,

(1) V3HaBaHHe (2) 3amomMIHaHHIE
(3) sa0BIBAaHHE (4) coxpaHeHHe
Options :

5362285133. 1
5362285134. 2
5362285135. 3
5362285136. 4



Question Number : 84 Question Id : 5362281318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe. Kak HasbIBaeTCH B MeTOOHEe IIpelIoTaBaAHHEA ITPOIIeCC. HHHPHB.?IEHHBIf‘I HAa
COXpaHeHIe B IIaMAdTH IIOJIVIeHHBIX BIIeYAT/IeHHI

(1) V3HaBaHHe (2) 3amomMHHaHHIE
(3) 3aDBIBaHHEe (4) coxpaHeHHe
Options :

5362285133. 1
5362285134.2
5362285135. 3
5362285136. 4

Question Number : 85 Question Id : 5362281319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTmeThTE. C TOUKH 3peHNA VPOBHEN [M03HABATEIBHON IeATE/IBHOCTH VIAIIHXCA, KAKOM
H3 CHeIVIIINX MeTOIOE TNPeINoIaraeT OpeTBABTeHHe VUHTEJIeM TOTOBOH
HHQOPMAIINHT U €& VCBOEHIE B TAKOM BHIe”

(1) HCCIe0BATEeIBCKHI METOI

(2) pPENPOIVETHEHEIH MeTOI

(3) YACTHYHO-IIOHCKOBRII MeTOI

(4) HHpOPMAIIHOHHO-PeIlleNTHEHBIH MeTOo I
Options :

5362285137. 1
5362285138. 2
5362285139. 3
5362285140. 4



Question Number : 85 Question Id : 5362281319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMmeTETE. € TOUKH 3peHHA VPOBHEH MO3HABATEIRHON MedTE/IEHOCTH VUANIHXCH, KAKOI
H3 CIeIVIIIHX MEeTOI0B IMIPeImoIaraeT [OpeIbABIeHHe VUHTeJIeM TOTOBOH
HH(pOPMAIIHHE U €& YCBOEHHEe B TAKOM BHIE.

(1) HCCTeJOBATEIBCKHI MeTOo T

(2) peENpPOIVETHEHEIN MeTOI

(3) YACTHYHO-IIOHCEOBBIE MeTOT

(4) HHPOPMAIIHOHHO-PeIleNTHEHLBIH MeTo T
Options :

5362285137. 1
5362285138. 2
5362285139.3
5362285140. 4

Question Number : 86 Question Id : 5362281320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HEto aspnserca pemuccépom dpunema «Annpeii Pyonésn?

(1) Cepreii DilseHmTEHH (2) Amnnpeii Taprosernil
(3) Cepreii Bormapuvk (4) Mapxr 3axapos
Options :

5362285141. 1
5362285142.2
5362285143. 3



5362285144. 4

Question Number : 86 Question Id : 5362281320 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Hto asngerca pexmuccépoMm ¢punema «Auapeii Pyvomnésn?

(1) Cepreiil DilzeHmTelH (2) Amnnpeil TaproBckHil
(3) Cepreit Borgapuvk (4) Mapr 3axapos
Options :

5362285141. 1
5362285142.2
5362285143.3
5362285144. 4

Question Number : 87 Question Id : 5362281321 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

: No Is Question Mandatory : No

: No Is Question Mandatory : No

B. Hemeposuu-Tamguenro u K. Cranncinasckuil aB1A0TCS OCHOBATEIAME

(1) Bonwmiore teatpa
(2) Mamoro Teatpa
(3) MocroBecroro xvaoEecTBeHHOIO TEATPA
(4) IpaMaTu4yeckoro TeaTpa
Options :

5362285145. 1
5362285146. 2
5362285147. 3
5362285148. 4

Question Number : 87 Question Id : 5362281321 Question Type : MCQ Option Shuffling

: No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

B. Hemeposuu-lamuenro u K. Cranncinasckuil ABIAKRTCA OCHOBATEIAME

(1) Bonwmore Teatpa
(2) Maumoro Teatpa
(3) MocroBeroro xvioEecTBeHHOIO TEATPA
(4) I pamaruueckoro TeaTpa
Options :

5362285145. 1
5362285146. 2
5362285147.3
5362285148. 4

Question Number : 88 Question Id : 5362281322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B raroil wactu B pomane M. JlepmorToa «['epoll Hamero epevennr [leuopun vousaet
['pymuannROro’

(1) «Bbaman

(2) «@ararmeTr
(3) «lIpenncnosue k wmvpHany [lewopurar
(4) «Raaxma Mepm»

Options :

5362285149. 1
5362285150. 2
5362285151.3
5362285152. 4

Question Number : 88 Question Id : 5362281322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B raroit wactu B pomane M. JlepmorTosa «l'epoit mamero epevenn» [leuopun vousaet
[pymuaunroro?

(1) «Bama»

(2) «DaramcT»
(3) «IIpeamcmosue k &ypHany Ilewopuman
(4) «HKaaxaa Mepm»

Options :

5362285149. 1
5362285150. 2
5362285151. 3
5362285152. 4

Question Number : 89 Question Id : 5362281323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ABTopoM paboTel «DoMBRIOP H TeHCTBHTEIBHOCTEY ABIAETCH

(1) M. Baxtun (2) IO. Jlorman
(3) B. IIponmo (4 . Iuxaués
Options :

5362285153. 1
5362285154.2
5362285155.3
5362285156. 4

Question Number : 89 Question Id : 5362281323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



AsTopoM paboTsl «DoIBKIOP U TelfcTBUTEIBHOCTEY ABIAETCH

(1) M. Baxtun () IO. Jlormanm
(3) B. IIponmo (4 . Iuxaués
Options :

53622851531
5362285154.2
5362285155.3
5362285156. 4

Question Number : 90 Question Id : 5362281324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B «Crose o monky Hropeser Edpocuara Apocnasua — ato

(1) maTtk Hropa (2) cecrpa Hropa
(3) mous HMropsa (4) xena Hropa
Options :

5362285157. 1
5362285158. 2
5362285159. 3
5362285160. 4

Question Number : 90 Question Id : 5362281324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B «Cnose o monkv Hropeser Edpocunara Apocnasra — ato

(1) MaTe Hropa (2) cecrpa Hropa
(3) moub Hropsa (4) swena Hropa
Options :

5362285157. 1



5362285158. 2
5362285159. 3
5362285160. 4

Question Number : 91 Question Id : 5362281325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[Tozza M. JlepmonTosa «Mupipm» asngeTed OpHMepoM:

(1) AKTHBHOIO poMaHTH3MAa (2) KOHCEPBATHBHOIO POMAHTH3MA
(3) KpPHTHYeCKOI'0 pealn3Ma (4) ceHTHMeHTAJIH3MA
Options :

5362285161. 1
5362285162. 2
5362285163. 3
5362285164. 4

Question Number : 91 Question Id : 5362281325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[Tosya M. JlepmonTosa « Muripny» asndgeTcda NpHMepoM:

(1) AKTHBHOI0O poMaHTH3MAa (2) KOHCEepPBATHBHOIO POMAHTH3MA
(3) KPHTHYeCKOI'D pealn3Ma (4) ceHTHMeHTATH3IMA
Options :

5362285161. 1
5362285162. 2
5362285163. 3
5362285164. 4

Question Number : 92 Question Id : 5362281326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Har HasmBaerca ABTOPCHROE IIOACHEHHE B ,'_T,PB.}IE‘?

(1) peMHHHCIIeHITHA (2) DoxgTekcT
(3) peMapra {(4) accoHanc
Options :

5362285165. 1
5362285166. 2
5362285167. 3
5362285168. 4

Question Number : 92 Question Id : 5362281326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Har HasmBaerca ABTOPCHROE IIOACHEHHE B ,'_T,PB.}IE‘?

(1) peMHHHCIIeHITHA (2) DoxgTekcT
(3) peMapra {(4) accoHanc
Options :

5362285165. 1
5362285166. 2
5362285167. 3
5362285168. 4

Question Number : 93 Question Id : 5362281327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Benerfi cTtix obosHagaeT:

(1) PA3SHOBHIHOCTE JIIDO0OBHOH JTHPHEH

(2) PA3HOBHIHOCTE IPaEIAHCKON JTHPHKN

(3) CTHX De3 pHdMEL

(4) PA3HOBHIHOCTD Meli3akHOoH JHPHUKH
Options :

5362285169. 1
5362285170. 2
5362285171. 3
5362285172. 4

Question Number : 93 Question Id : 5362281327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Bemnsrii ctux obosHadaeT:

(1) PA3SHOBHIHOCTE JIDO0OBHOH THPHEH

(2) PASHOBHIHOCTE I'PaKIAHCKOH THPHEH

(3) cTHUX 0e3 pudMEL

(4) PA3HOBHIHOCTE Mel3akHoH JHPUKH
Options :

5362285169. 1
5362285170. 2
5362285171.3
5362285172. 4

Question Number : 94 Question Id : 5362281328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B cratee . [Incapesa «boprba 3a HH3HE» aHAIHIHPYETCH POMAaH:

(1) «Méprerie nvmu» H. 'orona
(2) «Arna Kaperaunar» JI. Tomxeroro
(3) «Ilpectvnnenne u Harkasaune» @. JocToescroro
(4) «Oter u getn» . Typrenesa
Options :

5362285173. 1
5362285174.2
5362285175. 3
5362285176. 4

Question Number : 94 Question Id : 5362281328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B cratee . [Tucapesa «boprba 3a HHU3HE» AHATHIHPYETCA POMAH:

(1) «Méprerie nvmmu» H. 'orona
(2) «Anna Kapeauna» JI. Tomxeroro
(3) «IIpecrvnnenne u Hakasanue» ©. HocroeBeroro
(4) «Oter u getn» . Typrenesa
Options :

5362285173. 1
5362285174.2
5362285175. 3
5362285176. 4

Question Number : 95 Question Id : 5362281329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Eto m3 pycckux nuTepaTopoB BHepBBIe paspadoTall cHCTEMY CHJIAOOTOHHYECKOTD HIIH
CJIOTOVIAPHOIO CTHXOTEOPEeHHA

(1) . ©®oxBusuH (2) M. lomonrOCOBA
(3) I'. Jepmasuu (4) A. Pamumes
Options :

5362285177. 1
5362285178.2
5362285179. 3
5362285180. 4

Question Number : 95 Question Id : 5362281329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Eto m3 pyccknx nuTepaTopoB BOepBBIe paspadoTall cHCTEMY CHJIAOOTOHHYECKOTD HJIIH
CJIOTOVIAPHOTO CTHXOTEOPEeHHA |

(1) . ©ouBusun (2) M. TormonocoBa
(3) I'. lepxasun (4) A. Pamumes
Options :

5362285177. 1
5362285178.2
5362285179.3
5362285180. 4

Question Number : 96 Question Id : 5362281330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



K xaromMy THOV mUTepaTypHEIX TepoeB MOEKHO oTHecTH Pyvaonma?

(1) MaJleHBKHH YeJI0BeK (2) poroBOH repoi
(3) JTHUINHHAH YeJI0BeK (4) repol-pesoHED
Options :

5362285181. 1
5362285182.2
5362285183. 3
5362285184. 4

Question Number : 96 Question Id : 5362281330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

K xaromMy THOV MTHTEpaTYpPHEIX TepoeB MOEKHO oTHecTH Pyonma?

(1) MaJleHBKHH YeJI0BeK (2) porOBOH repoit
(3) JTHOTHHH YeT0BeK (4) repol-pes3oHED
Options :

5362285181. 1
5362285182.2
5362285183.3
5362285184. 4

Question Number : 97 Question Id : 5362281331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B pomane A. [Iyvimrnaa « Eprenmit Ouernm» OHerns asngeTcda repoed:

(1) B 20-p1x ronax XIX sexa (2) B 30-p1x rogax XIX sera

(3) B 40-m1x romax XIX Bera (49) B 50-mix rogax XIX Bera

Options :



5362285185. 1
5362285186. 2
5362285187. 3
5362285188. 4

Question Number : 97 Question Id : 5362281331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B pomane A. IIyvinrnaa « Eprennit Osernm» OHernH gSBIgeTCd Tepoen:

(1) B 20-p1x ronax XIX Bexka (2) B 30-p1x rogax XIX sera
(3) B 40-p1x romax XIX seka (4) B 50-pix romax XIX Bera
Options :

5362285185. 1
5362285186. 2
5362285187. 3
5362285188. 4

Question Number : 98 Question Id : 5362281332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Horo oOBIHO CYHTAIOT IBOHHHEKOM PackolpHHKOBA.

(1) Pasyvvuxuna (2) Ilopdupusa Ilerposuua
(3) Jyxunaa (4) Ceuopuratinosa
Options :

5362285189. 1
5362285190. 2
5362285191.3
5362285192. 4

Question Number : 98 Question Id : 5362281332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Horo o0BIYIHO cYHTAIOT IBOHHHEKOM PackonpHHKOBA”

(1) Pasyyvuxuua (2) Ilopdupua [lerposuua
(3) Jyxunaa (4) Csumpuratimosa
Options :

5362285189. 1
5362285190. 2
5362285191. 3
5362285192. 4

Question Number : 99 Question Id : 5362281333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B pomane JI. Tomcroro «Arna HapermHa». KoMy ODpHHAIIE®AT CI0BA: «¥ KAEIOLO
ecTh B Oyine cBol skeletons. kak roBopAaT aHrIHYaHe»

(1) Cruse (2) Anne
3  Jonmm (4 BpoHcroMy
Options :

5362285193. 1
5362285194. 2
5362285195.3
5362285196. 4

Question Number : 99 Question Id : 5362281333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B pomane JI. Tomcroro «Amna Kapenmna». moMy ODpHHAIIe®AaT cI0BA: «¥ KaEIOLO
ecTh B aviiae cBoH skeletons. kax roBopaTr aHrmHYane»’

(1) Cruse (2) Amme
(3) HNommu (4) Bpoucroy
Options :

5362285193. 1
5362285194. 2
5362285195.3
5362285196. 4

Question Number : 100 Question Id : 5362281334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B raroil npece MEI HaOImIaeM HEOJIIBIMOBCEYVID H{}}IHGSHHIIID?

(1) «I'poza» OcTpoBcroro (2) «Bumuésriii caa» Yexosa
(3) «Pesmzop» [orona (4) «lope or yyma» ['pudoenosa
Options :

5362285197. 1
5362285198. 2
5362285199. 3
5362285200. 4

Question Number : 100 Question Id : 5362281334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B raxoil nrece Ml HADIIIAEM HOIIBIMOBCEYVID H{}}IIICISHHIIID‘?

(1) «I'poza» OcTpoBeroro (2) «Bumuaéssnii caxr Yexosa

(3) «PeBusopr ['orona (4) «Il'ope or yma» ['pudoenosa



Options :

5362285197. 1
5362285198. 2
5362285199. 3
5362285200. 4

Question Number : 101 Question Id : 5362281335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B rarom myprane 0w onvonukosad poMan H. Typrenwesa «Ormoer i metmn?

(1) CoBpeMeHHHE (2) Pyccruil BecTHHE
(3) Hosoe Bpema (4) Hoswit mup
Options :

5362285201. 1
5362285202. 2
5362285203. 3
5362285204. 4

Question Number : 101 Question Id : 5362281335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B raroum mypHane ovl1 onvonukosaH poMaH M. Tyvprerwesa «Ormoer 1 metm»?

(1) CoBpeMeHHHE (2) Pyccruil BecTHHE
(3) Hosoe Bpema (4) Hoswiit mup
Options :

5362285201. 1
5362285202. 2
5362285203. 3
5362285204. 4



Question Number : 102 Question Id : 5362281336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

O raroM HeTOpHYECKOM CODBITHI HIET pedunb B duHATe poMaHa «Pyammn?

(1) Boifizga 1812 roma

(2) Hprinvcras soiina

(3) @paHIIV3ckad peBoamonHga 1848 roga
(4) OTreHa KpelloCcTHOrO MpaBa

Options :

5362285205. 1
5362285206. 2
5362285207. 3
5362285208. 4

Question Number : 102 Question Id : 5362281336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(O rakoM HcTOpHYECKOM COOBITHH HIET pedb B ¢HHAIe poMaHa «Pyama»?

(1) Boiiga 1812 roga

(2) HKprinvcrasa soiina

(3) @paHIy3cKkad pesoanug 1848 roga
(4) OTtymeHa KpemocTHOrO mpaBa

Options :

5362285205. 1
5362285206. 2
5362285207. 3
5362285208. 4

Question Number : 103 Question Id : 5362281337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haroit Teatp emé HasmsawTt Jomom OctposBeroro?

(1) Bonwsmoit Tteatp (2) Mamneif TeaTp
(3) MXAT (4) AnexcaHIpPHHCKHHA TEATP
Options :

5362285209. 1
5362285210. 2
5362285211.3
5362285212. 4

Question Number : 103 Question Id : 5362281337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Haroil teatp emé masesaoT Jomom OcrposBeroro?

(1) Bonwmoii Treatp (2) Mamneii TeaTp
(3) MXAT (4) AnexcaHIpHHCKHH TEATP
Options :

5362285209. 1
5362285210. 2
5362285211. 3
5362285212. 4

Question Number : 104 Question Id : 5362281338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

['epoii paccrasa «Tocka» pacckasas o cBoéM rope

(1) CBOel TOITaTeHKe (2) cBOeMY OpPYTY

(3) OTHOMY MACCAEHPY (4) IOpyvroMy H3BO3UHKY

Options :



5362285213. 1
5362285214.2
5362285215. 3
5362285216. 4

Question Number : 104 Question Id : 5362281338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

['epoit paccrasa «Tocka» pacckasamna o cBoéM rope

(1) CBOoeH TomaTeHKe (2) cBoeMy OpyTY
(3) OTHOMY HaccaxEHpPY (4) IpvroMy H3BOSUHKY
Options :

5362285213. 1
5362285214. 2
5362285215.3
5362285216. 4

Question Number : 105 Question Id : 5362281339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B nrece Octposeroro «I'posa» roro suauTt Tuxon B cmeptn Katepunsr?

(1) Bopieca (2) Bapeapy
(3) Hatannuxy (4) Cebsn
Options :

5362285217. 1
5362285218. 2
5362285219.3
5362285220. 4

Question Number : 105 Question Id : 5362281339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

B nrece Ocrposeroro «I'posar roro suauT Tuxon B ceptn Katepunsr?

(1) Bopiieca (2) Bapsapy
(3) Hatannuxy (4) Cebsn
Options :

5362285217. 1
5362285218. 2
5362285219. 3
5362285220. 4

Question Number : 106 Question Id : 5362281340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

B pomane @. JocroeBekoro «IIpecTviiieHine H HakasaHHe» KAK Ha3blBaeTcd CTAThA
Pacrkomnpankosa’

(1) «O mpecTvnmeHMm» (2) «llpaBa mmunOoCTHY
(3) « HarazaHUM» (4) «llpm npecryvnneHnm»
Options :

5362285221. 1
5362285222.2
5362285223. 3
5362285224. 4

Question Number : 106 Question Id : 5362281340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B pomane @. JocroeBeroro «IIpecTviiieHine u HakasaHHe» KAK Ha3blBaeTcd CTAThA
PacrkonpaNKOBA”

(1) «0 mpecrynmennm» (2) «lIlpaBa qmuHOCTHY
(3) «0 HarazaHUMm» (4) «llpu npecrynnexnm»
Options :

5362285221. 1
5362285222.2
5362285223. 3
5362285224. 4

Question Number : 107 Question Id : 5362281341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

:IHPH"—IE‘CHDE IIpoHs3BedcHHEe. TOS BREIPAERAKNTCA I'PYCTE H IIeYMallb. Ha3bIBAeTCH

(1) OO (2) amermeint
(3) CATHPOIT (4) EKoJIBIOETIRHON MecHeH
Options :

5362285225. 1
5362285226. 2
5362285227.3
5362285228. 4

Question Number : 107 Question Id : 5362281341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

.TIHPII‘IECRDE IIpOoHs3BedeHHe. T2 BEIPARAKNTCA I'PYCTE H IIevYallb. HAaSBIBAETCH

(1) 00 (2) oamermeit

(3) caTHpo (4) EKoIBRIOETIBRHON MecHel



Options :

5362285225. 1
5362285226. 2
5362285227.3
5362285228. 4

Question Number : 108 Question Id : 5362281342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[Izeca Ocrposeroro «I'posar aBageTca OpuMepoM

(1) Tpareann (2) womemzuH
(3) Tparu-KoMeIHH (4) ITOpaMEel
Options :

5362285229. 1
5362285230. 2
5362285231.3
5362285232. 4

Question Number : 108 Question Id : 5362281342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[Ireca Octposckoro «['posar aBageTca mpHuMepodM

(1) TpareIHH (2) womemmm
(3) TPparu-KoMeIHH (4) 1OpamMer
Options :

5362285229. 1
5362285230. 2
5362285231. 3
5362285232. 4



Question Number : 109 Question Id : 5362281343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[IprmveHeHHe XVIOOoRHHEOM ONpele/I[EHHBIX TBOPYECKHX NPHHIINIIOE H300pakeHHNA

AHSHH HaseEIBaeTCHd

(1) HAOpaBIeHHeM (2) TeueHHeM
(3) MEeTOTOM (4) cTHIeM
Options :

5362285233. 1
5362285234. 2
5362285235. 3
5362285236. 4

Question Number : 109 Question Id : 5362281343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[IpuveHerHne XYVIORHHKOM ONpele/EHHBIX TBOPYECKHX IIPUHIIHUIIOE H300pameHNd

AHSHH HasbkIBaceTCHA

(1) HAOpaBIeHHEeM (2) TeueHHEM
(3) METOIOM (4) cTHIeMm
Options :

5362285233. 1
5362285234.2
5362285235.3
5362285236. 4

Question Number : 110 Question Id : 5362281344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Otragaiite saragky: «B ogHoyM OouoHEe OBa cOpTa BHHAa»

(1) OEIHA (2) apovs
(3) ane/ILCHH (4) s
Options :

5362285237. 1
5362285238. 2
5362285239.3
5362285240. 4

Question Number : 110 Question Id : 5362281344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Otragaiite saragkyv: «B oaHoM OouoHEe OIBa copTa BHHAa»

(1) IEIHA (2) apovs
(3) ATIeIRCIH (4) =i
Options :

5362285237. 1
5362285238. 2
5362285239. 3
5362285240. 4

Question Number : 111 Question Id : 5362281345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

C rarmM TeaTpoy OBLT TecHO cBasaH A. Yexor?

(1) Boarsmoii Teatp (2) MocroBekHII XvIo®ecTEeHHBIN TeaTp

(3) AnexcaHIPHHCKHI TEaTp (4) MockoBeckHII IpaMaTHYeCcKHI TeaTp



Options :

5362285241. 1
5362285242. 2
5362285243.3
5362285244. 4

Question Number : 111 Question Id : 5362281345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

C rarmy Teatpom ObLT TecHO cBa3aH A Yexor?

(1) Boasmoi teatp (2) MocroBckHII XVI0®EeCTEEHHBIN TEATpP
(3) AlexcaHIPUHCKHI TeaTp (4) MockoBckHIl IpaMaTHYeCKHI TeaTp
Options :

5362285241. 1
5362285242.2
5362285243. 3
5362285244. 4

Question Number : 112 Question Id : 5362281346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CraTHuHEI repoil 00BIYHO HAOIIOIAETCH

(1) B MAaJIOM 3MIHYeCcKOoM KaHpe (2) B DoBecTH
(3) B poMaHe (4) B poMaHe B CTHXAX
Options :

5362285245. 1
5362285246. 2
5362285247. 3
5362285248. 4



Question Number : 112 Question Id : 5362281346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

CraTuuHEIld repoil 00BIYHO HADTIOOAETCH

(1) B MAJIOM 3MHYECKOM HaHpe (2) B DoOBecTH
(3) B poMaHe (4) B pomanHe B cTHXAaX
Options :

5362285245. 1
5362285246. 2
5362285247.3
5362285248. 4

Question Number : 113 Question Id : 5362281347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Dnurpad «Mue orMmenne n A3 Bo3mamM» OTHOCHTCHI K POMAHY

(1) «Pyoumy H. Typrenesa

(2) «'epoil mamero speyenn» M. JlepymorToBa
(3) «Anna Hapenuna» JI. Toneroro
(4) «Eprennit Omernm» A. [Ivimruna

Options :

5362285249. 1
5362285250. 2
5362285251. 3
5362285252. 4

Question Number : 113 Question Id : 5362281347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Snurpad «Mue orMmenne n A3 BoamaM» OTHOCHTCAI K POMAHY

(1) «Pyoum» H. Tyvprenesa

(2) «epoil mamero speyenn» M. JlepymonToBa
(3) «Anna Hapenuna» JI. Toneroro
(4) «Eprennit Omernm» A. [lvimruna

Options :

5362285249. 1
5362285250. 2
5362285251. 3
5362285252. 4

Question Number : 114 Question Id : 5362281348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Haroe npoussemenne M. [operoro brelino sanpenieHo H He H3IaBAIOCE.

(1) «IleTn comuIIan (2) «HecBoeBpemMeHHEIe MEICTIN
(3) whnsae Komaa CaMruoaar (4) «Mate»
Options :

5362285253. 1
5362285254. 2
5362285255. 3
5362285256. 4

Question Number : 114 Question Id : 5362281348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haroe npoussenenne M. ['operoro brlmo sanpenieHo H He H3IaBAIOCE.

(1) «JeTn comHILa» (2) «HecBoeBpereHHEIE MEICITIID
(3) whnsae Komaa Camruaan (4) «Mate»
Options :

5362285253. 1
5362285254. 2
5362285255.3
5362285256. 4

Question Number : 115 Question Id : 5362281349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I3 raroro npoHsBedeHNA B3ATA CAeIVIOIIad [IHTATA.

«fl vBHUOen cpenm IajJBHEro MpaKa c/Iadoe KPVIJIOE CBETHJIO. BeCe JKe 0OpOoBIIee
CILJIOIITHVIC ThMY.

- 9To coIHIIE 3a’KIJIH B KoJIXo3e! — crasam 4. »

(1) «Hormopan» A. Ilnatonosa

(2) «Mengea u eé getm» JI. ¥ mmuxoi

(3) «Ypar C. Hlaprvaosa

(4) «Murpocrom» B. lllykmusaa

Options :

5362285257. 1
5362285258. 2
5362285259. 3
5362285260. 4



Question Number : 115 Question Id : 5362281349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

I3 raroro nponsBeIeHNd B3ATA ClIeIVIOIIasd [THTATA

«f vBHmen cpegH DanpHero MpaKa cIaboe EPVIJIOe CBETHIO. BCe Ke OOpOoBIIee
CILIOINHYI TBMY.

- JTOo COMHIIE 3aEIVIH B KOJIX0o3e! — crkasam 4. »

(1) «Kormosam» A. [Inatonosa

(2) «Megea u eé getm» JI. Vaunxoii

(3) «¥Ypar C. Ilaprvaosa

(4) «Murpocrom» B. lllykmusa

Options :

5362285257. 1
5362285258. 2
5362285259. 3
5362285260. 4

Question Number : 116 Question Id : 5362281350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

O koM HOET pedus B cIeIVIOINEeM BEICKA3BEIBAHIH

«(OH He MOHUMAET HH PeYH TIOIel HH HX MOCTVIIKOB — HHYEeTo.»

(1) I'med Kanvernsn («Cpesam)

(2) Jlappa («Crapvxa Haepruae»)

(3) Hean lenncopuy («Oouu geus B swusHa Heana enncosmuan)

(4) Bomer («Kotmosam»)



Options :

5362285261. 1
5362285262. 2
5362285263. 3
5362285264. 4

Question Number : 116 Question Id : 5362281350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(O KoM HIET peus B CAeIVIOINEM BEICKASBIBAHNIN
«OH He MoHHMAaeT HH pedH JT0Jel HI HX IOCTVIKOB — HIYero.»
(1) I'nmed Kanvernn («Cpesamm)

(2) Jlappa («Crapvxa Haeprune»)

(3) Hean [Jerncosnu («Ooun qeHs B wu3HN BaHa [leHncosmnuan)
(4) Bomes («Kormosaa»)
Options :

5362285261. 1
5362285262. 2
5362285263. 3
5362285264. 4

Question Number : 117 Question Id : 5362281351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haroe us CIIe IV X HpDHSBE‘IEHIIﬁ H Ha49HHAaeTCHA H KOHYaeTCH C 3IIH30I1Aa HDXDPGH‘?

(1) «¥VTHHag oxorar A. Bammnmnosa

(2) «lokTop Kusaro» B. Ilacreprara

(3) «Mactep 1 Maprapura» M. Byvarakosa

(4) «bemrerit napoxom» Y. AfitmaTtosa
Options :

5362285265. 1
5362285266. 2
5362285267. 3
5362285268. 4

Question Number : 117 Question Id : 5362281351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Haroe us CIIeIVHOOIHX HpDHSBE‘IEHIIﬁ H Ha49HHAaeTCHd H HOHYaeTCH C 3IIH30I1Aa HDXDPGH‘?

(1) «VTHHag oxorar A. Bammmnosa

(2) «lorTop Rusaro» B. [lacreprara

(3) «Mactep n Maprapura» M. Byvarakosa

(4) «bemerit napoxom» Y. AfitmaTtosa
Options :

5362285265. 1
5362285266. 2
5362285267. 3
5362285268. 4

Question Number : 118 Question Id : 5362281352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Ero. B pomane «Macrep u Maprapura». peruan?

«Te1 Tyx! ...ecrm OBI THI He OBLT IIVXHM. THI VCJIBIIIAT OBl MeHA H VOHI ero TVT &e. ...4

omubasca!l ...Tel Oor 3ma

(1) Hsan Besmonvuniin (2) Maprapura
(3) Hesuit Marseil (4) Bapenvxa
Options :

5362285269. 1
5362285270. 2
5362285271. 3
5362285272. 4

Question Number : 118 Question Id : 5362281352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Ero. B pomane «Macrep u Maprapura». peraan?

«Ter Toyx! ...ecru GBI THI He OBLT TIVXMM. THEI VCJIBIIIIAT OBl MeHA M VORI ero TVT &e. .. .4

ommoascsa! ...TeI Oor saal»

(1) Hean Besmoyueiin (2) Maprapura
(3) Hesuit Marseit (4) Bapenvxa
Options :

5362285269. 1
5362285270. 2
5362285271. 3
5362285272. 4

Question Number : 119 Question Id : 5362281353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

HreHE kakoil CPVIIIHPOBKE VTBCPRIATH ( g boltye 2 7 «MEII OHIDEM He 0019 ODpomaraiibl.
HeryeeTBo peaTRHO, AR caMa &H3HE. V. Rak caMa EH3HE, 0HO Oe3 IeaH I 0es
CMEICTIA CVITECTBVET IMOTOMY, UTO He MOEeT He ¢VIIeCTBOBATE.»

(1) CepammoHOBE OpATEA ) JI9D

(3 PAIILLI (4) BAIIII
Options :
5362285273. 1
5362285274.2
5362285275. 3
5362285276. 4

Question Number : 119 Question Id : 5362281353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HaeHnl kaxoil CPVIOMHPOBKHE VTIBO:KIATH ( i boltye £ 70 « MBI nHITEM He 019 TpOmaramin.
HewrveeTBo peatBHO, Eak caMa skHaHb. M, Rar caMa RH3HE, 0HO Oe3 IIeTH W Oe3
CMEICTIA CVIIECTEVET IMOTOMY, UTO He MOEeT He ¢VIIecTBOBATE.»

(1) CepanoHOBR OPATEI )  JIOad
(3 PAIIII (4) BAIIII
Options :

5362285273. 1
5362285274.2
5362285275. 3
5362285276. 4

Question Number : 120 Question Id : 5362281354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Rakoif cTHX0TBOPHEIHN pasMep HaOMOIaeTcA B caeaviomux erpoukax H. I'vmummesa?
«fl momee enyiIaTe GeayMIla HeMOT,

A moaman cepraIIAIl Med,

[leBry momapmi 4 KPOBABLIA IBETOK

B marpany aa nepsryo pede.»

(1) Xopeit (2) Amamect
(3) Amdbudpaxmit (4) HarTHin
Options :

5362285277. 1
5362285278. 2
5362285279.3
5362285280. 4

Question Number : 120 Question Id : 5362281354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Raroit eTHX0oTBOPHEII pasMep HabMOIaeTeda B eaenviomux crpourax H. I'vvmumrena?
«f1 momee exymIaTe GeayMIIa HeMOT,
A monmAn cepranIIIil Med,

[lepiry moagapua 4 KPOBABLIA [IBCTOR

B marpany 3a nepsryo peds.»

(1) Xopett (2) Amamect
(3) Amdubpaxuit (4) JarTHiIn
Options :

5362285277. 1
5362285278.2



5362285279. 3
5362285280. 4

Question Number : 121 Question Id : 5362281355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Haraa pudnra Berpeuaerca B cneaviomux crpoukax A. Bosrecencroro «[ofian?

wf — Toira!

I'masHHUIEl BOpOHOK MHEe BEIKJIEBAJ BOPOH.
(CreTad Ha mose Haroe.

A — T'ope.

A — romoc

BoiigEl. roponos roJIoBHI

Ha cnery copor nepsoro roaa.

1 — romom.»

(1) Momopum (2) DBamanesaasm
(3) AccoHaHcHAA (4) HuccoHancHad
Options :

5362285281. 1
5362285282. 2
5362285283. 3
5362285284. 4

Question Number : 121 Question Id : 5362281355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haraa pudra Berpeuaerca B cneayviomux ctpoukax A. Bosrecencroro «'ofian?

wfl — Loa!

I'masHMIEI BOpOHOK MHe BEIKJIEBAT BOPOH.
Crmerasa Ha mose Haroe.

A — T'ope.

A — romoc

Boiigml. ropomos roroBHH

Ha caery copor nepsoro rozga.

1 — romom.»

(1) MonopuMm (2) bBanmanpnaz
(3) AccoHaHcHAaT (4) HmccomancHas
Options :

5362285281. 1
5362285282.2
5362285283. 3
5362285284. 4

Question Number : 122 Question Id : 5362281356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Hak ., 6¥KB- U3 cOBpeMeHHOro pycckoro a3elka npuayman H. Kapamaun?

(1) &

(2)

(3)

4 w»
Options :

5362285285. 1



5362285286. 2
5362285287. 3
5362285288. 4

Question Number : 122 Question Id : 5362281356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Kar.,: 6vKB+ M3 cOBpeMeHHOro pycckoro a3eika npuayman H. Kapamaun?

(1) &

(2)

(3)

4
Options :

5362285285. 1
5362285286. 2
5362285287. 3
5362285288. 4

Question Number : 123 Question Id : 5362281357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Harkaa n3 cleayoIIHx THTepaTyVpPHEIX TPYINHPOBOK He oTHocHTcH K 20-piv rogam XX
Ly
BeKa’

(a) Crndnl
(b) Kyanamua

(c) Huyaxmmansm

(d) HoucTrpyrTusnam

Codes:

(1) Tomero A. B (2) Tomero C

(3) Tompro A. D (4) Hurarasa
Options :

5362285289. 1
5362285290. 2
5362285291. 3
5362285292. 4

Question Number : 123 Question Id : 5362281357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Harkaa n3 cleayoIIHx THTepaTyVpPHEIX TPYINHPOBOK He oTHocHTcH K 20-piv rogam XX
Ly
BeKa’

(a) Crndnl
(b) Kyanamua

(c) Huyaxmmansm

(d) HoucTrpyrTusnam

Codes:

(1) Tomero A. B (2) Tomero C

(3) Tompro A. D (4) Hurarasa
Options :

5362285289. 1
5362285290. 2
5362285291. 3
5362285292. 4

Question Number : 124 Question Id : 5362281358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haroe 13 craenyomux BeIcKasbplBaHHN ABIAeTcHa BepHBIM maa OITOAS3?

(a) IIpuén ocTpaHeHNA Bellell ABIAeTCd MPHEMOM HCKEVCCTBA.

(b) [Ipuém saTpvaHeHHOH GOPMEI ABIAETCA IPHEMOM HCKVCCTBA

(c) Iloasma mom&HAa VEEIHYHBATE TPYVIHOCTE H TOJTOTY BOCIIPDHATHA.

(d) BocnipusmmmaTe TBHEIN OIpollece B HCKVCCTBE CAMOIIEIEH.

Codes:

(1) Tonexro (a) (2) Toasro (a). (b)

(3) Tonexro (a). (b). (c) (4) Bce (a). (b). (c). (d)
Options :

5362285293. 1
5362285294. 2
5362285295.3
5362285296. 4

Question Number : 124 Question Id : 5362281358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Haroe 13 craenyomux BeIcKasbplBaHHN ABIAeTcHa BepHBIM maa OITOAS3?

(a) IIpuén ocTpaHeHNA Bellell ABIAeTCd MPHEMOM HCKEVCCTBA.

(b) [Ipuém saTpvaHeHHOH GOPMEI ABIAETCA IPHEMOM HCKVCCTBA

(c) Iloasma mom&HAa VEEIHYHBATE TPYVIHOCTE H TOJTOTY BOCIIPDHATHA.

(d) BocnipusmmmaTe TBHEIN OIpollece B HCKVCCTBE CAMOIIEIEH.

Codes:

(1) Tonexro (a) (2) Toasro (a). (b)

(3) Tonexro (a). (b). (c) (4) Bce (a). (b). (c). (d)
Options :

5362285293. 1
5362285294. 2
5362285295.3
5362285296. 4

Question Number : 125 Question Id : 5362281359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



B rarux 3 crenvmNx npoHssedeHHI HIET pedb 0 KOIXo3e.

(a) «MaTpéunn nsoper A. CommeHnneiga

(b) «Kormosam» A. IlnaTtonosa

(c) «Bemnsiit mapoxoa» Y. AffitMaToBa

(d) «¥Y TiHAag oxorar A. Bammumnosa

Codes:

(1) Tomnsxro (a). (d) (2) Toasxo (a). (b)

(3) Toxsxo (a). (b). () (4) Bce (a). (b). (c). (d)
Options :

5362285297. 1
5362285298. 2
5362285299. 3
5362285300. 4

Question Number : 125 Question Id : 5362281359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

& b, 3 CJ ¥, ol [ = LOJI3 :
B raxpx us CHIeIVIOINIHXE IMIPOHIBEeTeHHH HIST pedYb O KoJIxo3e?

(a) «MaTtpénunn osoper A. CommeHHIIBIHA

(b) «Rormopam» A. IlnaTtonosa

(c) «Bemnsiii napoxoa» Y. AfitmMaToBa

(d) «¥YTrHag oxorar A. Bammumnosa

Codes:

(1) Tomsxro (a). (d) (2) Toasxo (a). (b)

(3) Tonero (a). (b). (c) (4) Bece (a). (b). (c). (d)



Options :

5362285297. 1
5362285298. 2
5362285299. 3
5362285300. 4

Question Number : 126 Question Id : 5362281360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeThTe MOTXOITATINEE 110 CMEICTTY MECTOMMEHHE B ITPETTOREHITH «Mu1 BemmoMuHAaEM
JTH MCCTa --- Pas, RWOTTda Ipocsamiachl MEMO ITIX.».,

(A) Bearnm

() Kaw/ IbIH

() 0001

(D)

Codes:

(1 (A)u(B) 2 (B)u ()

(3) (A) m (C) (1)  (A), (B), (C) u (D)

Options :

5362285301. 1
5362285302. 2
5362285303. 3
5362285304. 4

Question Number : 126 Question Id : 5362281360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTvMeThTe MOIXOITATIEeS TT0 CMEICTY MECTOMMEHHE B ITPETTOMET I «Mu1 BemmoMuHAaeM
JTH MCCTa --- Pas, KoTIa MPoc3aiachl MEMO ITIX. %

(A) Bearnui

(15) KA ThIH

() 0001

()

Codes:

(1 (A)u(B) (2) (B)u (C)

@) (A u () 4 (A), (B), (C) u (D)

Options :

5362285301. 1
5362285302. 2
5362285303. 3
5362285304. 4

Question Number : 127 Question Id : 5362281361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTeTe. B EKaAKHX H3 CIeIVEOIIAX CJI0BOCOYEeTAHHI BeTpedaeTcd CIHIIBHOE
VvIIpaBIeHHe

(A) CTYVUIATE 110 CTOJY

(B) IOJI0OH HATe F IR

(C) 0JaroIapHTh 3a MOTAPOK

(D) OTeBATE JHeMH

Codes:

(1) AuB (2) CuD

(3) BuC 4 BubD
Options :

5362285305. 1
5362285306. 2
5362285307. 3
5362285308. 4

Question Number : 127 Question Id : 5362281361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTeTe. B EKaAKHX H3 CIeIVEOIIAX CJI0BOCOYEeTAHHI BeTpedaeTcd CIHIIBHOE
VvIIpaBIeHHe

(A) CTYVUIATE 110 CTOJY

(B) IOJI0OH HATe F IR

(C) 0JaroIapHTh 3a MOTAPOK

(D) OTeBATE JHeMH

Codes:

(1) AuB (2) CuD

(3) BuC 4 BubD
Options :

5362285305. 1
5362285306. 2
5362285307. 3
5362285308. 4

Question Number : 128 Question Id : 5362281362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTymeTwTe. B HaEHX H3

corjiacoBaHHe?
(A) MMATOS YHCIO
(B) FEeHIMHHA-KOCMOHABT
{C) CEIH-KpAacaBell
(D)  Ha ozepe Dafkam
Codes:
(1) AuB
(3) BuC
Options :

5362285309. 1
5362285310. 2
5362285311.3
5362285312. 4

Question Number : 128 Question Id

Correct Marks : 2 Wrong Marks : 0

CIIeTVHITIX CJIOBOCOUYEe TAHMI BCTpe"dacTCH IIOJIHOS

2 AucC
4 BubD

: 5362281362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



OTymeTwTe. B HaEHX H3

corjiacoBaHHe?
(A) MMATOS YHCIO
(B) FEeHIMHHA-KOCMOHABT
{C) CEIH-KpAacaBell
(D)  Ha ozepe Dafkam
Codes:
(1) AuB
(3) BuC
Options :

5362285309. 1
5362285310. 2
5362285311.3
5362285312. 4

Question Number : 129 Question Id

Correct Marks : 2 Wrong Marks : 0

CIIeTVHITIX CJIOBOCOUYEe TAHMI BCTpe"dacTCH IIOJIHOS

2 AucC
4 BubD

: 5362281363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



OTMeTETE. B KAKHX H3 CIIe IVIOOTHX CII0BOCOYeTAHHIT BECTpedYaeTCcHd VIIpaBJiie Hue

(A) TOBOPHTE He MepecTABAA
(B) VBajKeHHe K VUHTEeI
(C) IBaEIEI IPEeIaATE I

(D) Tpoe MVEIHH

Codes:

1) AuB 2 BuC

(3) AuD (4) Bub
Options :

5362285313. 1
5362285314. 2
5362285315. 3
5362285316. 4

Question Number : 129 Question Id : 5362281363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMeTETe. B KAKHX H3 CJIeIVIOIIHX CJI0BOCOUMeTAHHII BeTpedaeTcd VIIpABIeHHe .
(A) TOBOPHTE He IepecTABad

(B) VBaKeHHe K VIHTEI

(C) OBAMEKIEI IpeIaTEeTh

(D) Tpoe MVEIHH

Codesa:

(1) Aub 2 BuC
(3 AuD (4) BuD



Options :

5362285313. 1
5362285314. 2
5362285315.3
5362285316. 4

Question Number : 130 Question Id : 5362281364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTMmeTBTe. B KaKHUX H3 CIIe DVIOIIX CIIOBOCOUETAHITIT BCTpEeYaeTCH HleIHHaHHE"?

(A) JI100oBE K ponuHe
(B) Beepx moramm

(C) Aomorn BrvecHee
(D) [Tarew oate

Codes:

(1) AuB 2) BucC

(3) AuD (43 CubD
Options :

5362285317. 1
5362285318. 2
5362285319.3
5362285320. 4

Question Number : 130 Question Id : 5362281364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



OTMeTBTE. B KAKHX H3 CJIeIVIOIIHX CJI0BOCOYeTAHHII BeTpedaeTcd IpHMEIEAHHE
(A) JI1000BE K poOHHe

(B) Beepx Horamm

(C) Aomorn BrveHee

(D) [Iareo oaTse

Codes:

(1) AunB 2 BucC

(3) AuaD 4 CuD
Options :

5362285317. 1
5362285318. 2
5362285319. 3
5362285320. 4

Question Number : 131 Question Id : 5362281365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



COE!,'.'[HHHTE‘! CcOrJIACHBIEe H3 CTOJIOHKA «A» ¢ HX MecToOM D’EﬁlpaSDBﬁ.HIIH 113 cToJIOHEKA «b».

«A» «Bw
(a) [M] (1) 3v0HO — mepelHeA3BIYHEIIL
b [3] (11) cpeIHe-A3BEIYHBIN
(c) [ﬁ] (111) sagHe-A3BITHEBIN
d [X] (Iv) rvOHO — rvOHOII
Codes:

(1) (a)-(1v). (b)-(1), (¢)-(111), (d)-(11)
(2) (a)-(111), (b)-(2), (c)-(11), (d)-(1v)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(1). (b)-(111), (c)-(1). (d)-(xv)

Options :

5362285321. 1

5362285322.2

5362285323. 3
5362285324. 4

Question Number : 131 Question Id : 5362281365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



COE!,'.'[HHHTE‘! CcOrJIACHBIEe H3 CTOJIOHKA «A» ¢ HX MecToOM D’EﬁlpaSDBﬁ.HIIH 113 cToJIOHEKA «b».

«A» «Bw
(a) [M] (1) 3v0HO — mepelHeA3BIYHEIIL
b [3] (11) cpeIHe-A3BEIYHBIN
(c) [ﬁ] (111) sagHe-A3BITHEBIN
d [X] (Iv) rvOHO — rvOHOII
Codes:

(1) (a)-(1v). (b)-(1), (¢)-(111), (d)-(11)
(2) (a)-(111), (b)-(2), (c)-(11), (d)-(1v)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(1). (b)-(111), (c)-(1). (d)-(xv)

Options :

5362285321. 1

5362285322.2

5362285323. 3
5362285324. 4

Question Number : 132 Question Id : 5362281366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CoengmnxnTe crmoBa H3 croaomEa «A» ¢ JIEKCHEON. H3 KOTOPOH OHH 3aHMCTEOBAHEI B
COBpeMeHHEBIH PYVCCKHII A3BIK H3 cToJI0HEA «by,

ﬁﬂ.}:r {'iBH-
(a) EKpoBaTE (1) cTapociIaBAHCHAA JeKCHEA
(b) KAHHKVIEB (1) cobcTEEHHO PyVCCKAA JIeKCHEA
(¢) EKaMeHIIHE (1) rpedeckad JeKCHEA
(d) Bpex (Iv) JIAaTHHCEAHA JIeKCHEA
Codes:

(1) (a)-(1v). (b)-(1). (¢)-(111). (d)-(11)
(2)  (a)-Gi). (b)-(1v). (¢)-(iD). (d)-(1)
(3) (a)-(1), (b)-(11). (c)-(1v). (d)-(111)
(4) (a)-(11), (b)-(111). (c)-(1), (d)-(1v)

Options :

5362285325. 1

5362285326. 2

5362285327. 3
5362285328. 4

Question Number : 132 Question Id : 5362281366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CoengmnxnTe crmoBa H3 croaomEa «A» ¢ JIEKCHEON. H3 KOTOPOH OHH 3aHMCTEOBAHEI B
COBpeMeHHEBIH PYVCCKHII A3BIK H3 cToJI0HEA «by,

ﬁﬂ.}:r {'iBH-
(a) EKpoBaTE (1) cTapociIaBAHCHAA JeKCHEA
(b) KAHHKVIEB (1) cobcTEEHHO PyVCCKAA JIeKCHEA
(¢) EKaMeHIIHE (1) rpedeckad JeKCHEA
(d) Bpex (Iv) JIAaTHHCEAHA JIeKCHEA
Codes:

(1) (a)-(1v). (b)-(1). (¢)-(111). (d)-(11)
(2)  (a)-Gi). (b)-(1v). (¢)-(iD). (d)-(1)
(3) (a)-(1), (b)-(11). (c)-(1v). (d)-(111)
(4) (a)-(11), (b)-(111). (c)-(1), (d)-(1v)

Options :

5362285325. 1

5362285326. 2

5362285327. 3
5362285328. 4

Question Number : 133 Question Id : 5362281367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



COE‘-JHI—IHTE‘- MecToOHMeHHe H3 CTOJI0HEKA «A» ¢ ero THIOM H3 cToJI0HKA «b».

ListI Last IT

<{,_$;}?' ‘HE}}
(a) BCAKMI (1) OTPHIIATE TEHOE
(b) Heroro (1) BompocHTeIBHOE
(c) cKoJIBEO (11) HeonOpeIeI&éHHOE
(d) =Heuro (Iv) ompelIeIHTeIBLHOE

Codes:

(1) (a)-av). (b)-(1). (e)-(1). (d)-(11)
(2)  (a)-(i). (b)-(v). (c)-(1), (d)-(11)
(3)  (a)-(1). (b)-(111), (c)-(1v), (d)-()
(4 (a)-(). (b)-(1). (c)-(111), (d)-(v)

Options :

5362285329. 1

5362285330. 2

5362285331. 3
5362285332. 4

Question Number : 133 Question Id : 5362281367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



COE‘-JHI—IHTE‘- MecToOHMeHHe H3 CTOJI0HEKA «A» ¢ ero THIOM H3 cToJI0HKA «b».

ListI Last IT

<{,_$;}?' ‘HE}}
(a) BCAKMI (1) OTPHIIATE TEHOE
(b) Heroro (1) BompocHTeIBHOE
(c) cKoJIBEO (11) HeonOpeIeI&éHHOE
(d) =Heuro (Iv) ompelIeIHTeIBLHOE

Codes:

(1) (a)-av). (b)-(1). (e)-(1). (d)-(11)
(2)  (a)-(i). (b)-(v). (c)-(1), (d)-(11)
(3)  (a)-(1). (b)-(111), (c)-(1v), (d)-()
(4 (a)-(). (b)-(1). (c)-(111), (d)-(v)

Options :

5362285329. 1

5362285330. 2

5362285331. 3
5362285332. 4

Question Number : 134 Question Id : 5362281368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'::TCJE‘,‘_'[HHHTE‘- I[JIArofbl H3 CTOIOHEA «A» ¢ MNPpOTVETHEHBIM RKJIACCOM HS cronoura «b». K

HOTOpPOMY HX MOFHO OTHECTH.

ﬂﬂ}:- <{E>>
(a) MedTaTh (1) 1-i mpoaVKETHBHEIN KIacC
(b) ToproBaThb (11) 2- NpoIVETHBHEII KJIACC
(c) BIazeThb (111) 3-H MpOAVETHBHEIN KJIACC
(d) MaxHVTB (1v) 4-1 OpoIVKTHBHEII KIacC
Codes:

(1) (@)-av). (b)-(1). (e)-(1). (d)-(111)
(2)  (a)-(i1). (b)-Q). (c)-(1v). (d)-(1)
(3)  (a)-@), (b)-v). (c)-(11), (d)-@)
4 (@-0. (b)-ai). (c)-1). (d)-(iv)

Options :

5362285333. 1
5362285334.2
5362285335. 3
5362285336. 4

Question Number : 134 Question Id : 5362281368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



'::TCJE‘,‘_'[HHHTE‘- I[JIArofbl H3 CTOIOHEA «A» ¢ MNPpOTVETHEHBIM RKJIACCOM HS cronoura «b». K

HOTOpPOMY HX MOFHO OTHECTH.

ﬂﬂ}:- <{E>>
(a) MedTaTh (1) 1-i mpoaVKETHBHEIN KIacC
(b) ToproBaThb (11) 2- NpoIVETHBHEII KJIACC
(c) BIazeThb (111) 3-H MpOAVETHBHEIN KJIACC
(d) MaxHVTB (1v) 4-1 OpoIVKTHBHEII KIacC
Codes:

(1) (@)-av). (b)-(1). (e)-(1). (d)-(111)
(2)  (a)-(i1). (b)-Q). (c)-(1v). (d)-(1)
(3)  (a)-@), (b)-v). (c)-(11), (d)-@)
4 (@-0. (b)-ai). (c)-1). (d)-(iv)

Options :

5362285333. 1
5362285334.2
5362285335. 3
5362285336. 4

Question Number : 135 Question Id : 5362281369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IlogbepuTe mom mapy ciloBocodeTaHHA H3 cTooma «A» H MX THI H3 cToaoma «b» m
VEAKHTE. KAKOH H3 cJAeIVIOIIHX PAIOB OTPaKaeT HPpaBHIRHOE COOTBETCTBHE:

«A» «b»
(a) ©OeIH3HA I0OMOB (1) ompeIelHTelIbHEIE OTHOIIEHHSA
(b) Hauamd OHMCcaTh (1) ©O0BEeKTHBIE OTHOIIEHHA
(c) FEellaHHe YVEHIESTE (1) cyvOBeKTHBIE OTHOIIEHHA
(d) ToTOBEII K DO (Iv) KOMILIeTHBHEIE OTHOIIEHHHA

Codes:

(1) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(2) (a)-(11). (b)-(1). (c)-(11), (d)-(av)
(3) (a)-(111). (b)-(1v). (c)-(1), (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

Options :

5362285337. 1

5362285338. 2

5362285339. 3
5362285340. 4

Question Number : 135 Question Id : 5362281369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



IlogbepuTe mom mapy ciloBocodeTaHHA H3 cTooma «A» H MX THI H3 cToaoma «b» m
VEAKHTE. KAKOH H3 cJAeIVIOIIHX PAIOB OTPaKaeT HPpaBHIRHOE COOTBETCTBHE:

«A» «b»
(a) ©OeIH3HA I0OMOB (1) ompeIelHTelIbHEIE OTHOIIEHHSA
(b) Hauamd OHMCcaTh (1) ©O0BEeKTHBIE OTHOIIEHHA
(c) FEellaHHe YVEHIESTE (1) cyvOBeKTHBIE OTHOIIEHHA
(d) ToTOBEII K DO (Iv) KOMILIeTHBHEIE OTHOIIEHHHA

Codes:

(1) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(2) (a)-(11). (b)-(1). (c)-(11), (d)-(av)
(3) (a)-(111). (b)-(1v). (c)-(1), (d)-(11)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

Options :

5362285337. 1

5362285338. 2

5362285339. 3
5362285340. 4

Question Number : 136 Question Id : 5362281370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[logbepuTe mox mapyv OpelToikeHHA W3 cToMOma «A» M HX THUO W3 cToxaboma «b» m

YEaEHTe, HAKOH H3 CJIeIVIIINHE DATJOEB OTpafaceT IIPAaBHJIbHOS COOTEECTCTEBHE.

wAw «Bw
(a) — Ilamoura. npuBesn MHe akvay! — (1) OnpenenéHHO-THYHOE
o0a3aTenpHo npueesy. Kpuk! IpeIIoEeHIe
(b) M=ue pas He ocTaBHIH B (1) HeonpezenérsHo-muuHOe
HACIeICTEO. npeIIoAkeHAe
(¢) I'me TpvoHo ABRIMHTCA. IOe rope (1) ObodImEHHO-THYHOEe OpelIoEeHHe

CIBIIIHTCA. OVIb IMEePBEIH TaM.

(d) IloBemesath camomy cede, (1v) DBesmanusoe mpexmomeHne
BJIACTBOBATEH HA COO0H YVYUHCE C
MAJIOTO.

Codes:
(1) (a)-(1). (b)-(11). (c)-(v). (d)-(112)
(2)  (a)-(1i). (b)-(1). (c)-(11). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(10)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
Options :
5362285341. 1
5362285342.2

5362285343. 3
5362285344. 4

Question Number : 136 Question Id : 5362281370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[logbepuTe mox mapyv OpelToikeHHA W3 cToMOma «A» M HX THUO W3 cToxaboma «b» m

YEaEHTe, HAKOH H3 CJIeIVIIINHE DATJOEB OTpafaceT IIPAaBHJIbHOS COOTEECTCTEBHE.

wAw «Bw
(a) — Ilamoura. npuBesn MHe akvay! — (1) OnpenenéHHO-THYHOE
o0a3aTenpHo npueesy. Kpuk! IpeIIoEeHIe
(b) M=ue pas He ocTaBHIH B (1) HeonpezenérsHo-muuHOe
HACIeICTEO. npeIIoAkeHAe
(¢) I'me TpvoHo ABRIMHTCA. IOe rope (1) ObodImEHHO-THYHOEe OpelIoEeHHe

CIBIIIHTCA. OVIb IMEePBEIH TaM.

(d) IloBemesath camomy cede, (1v) DBesmanusoe mpexmomeHne
BJIACTBOBATEH HA COO0H YVYUHCE C
MAJIOTO.

Codes:
(1) (a)-(1). (b)-(11). (c)-(v). (d)-(112)
(2)  (a)-(1i). (b)-(1). (c)-(11). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(10)
(4) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
Options :
5362285341. 1
5362285342.2

5362285343. 3
5362285344. 4

Question Number : 137 Question Id : 5362281371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[lontepuTe moa mapy mpeldflodkeHHA H3 cToaoma «A» M HX THO H3 croigoma «b» m
VEAKITE. KAKOH H3 cIeIVIOMINX PAI0E OTPAKAET NIPABIIEHOE COOTBETCTEBHE:

« Ao «B»
(a) He 0nl710 v MeHA Taroro vrosopy. (1) CraomHomoTuHHEHHOE
YTOOBI IPOBAa TACKATD. OpendnodkeHHe ¢  NPHIATOYHEBIM

oﬁpaaa ,'.T,EfICT’EI-IH. MePEkI H CTEIIEeHH

(b) OTen morpedoBamd, uyTodel g examac (1) CroomHomoounHEHHOE

HIIM. ONpeaIoEeHHe ¢  [OPHIATOTHEIM
CIIeICTBHA
(¢) Hamo Toapko cTaTes TakuM obpazom, (1) CroomHomoounHEHHOE
utobre! [loapuas aeesna OpeaToEeHHe ¢  OPHIATOIHEIM
OUVTHJIACE KaK pas HaJl OIlpe e IHTe IEHEIM

KoJIoKoJIBHeH cB. ['eoprua.

(d) CHer Bcé craHoBHIICA Oesee U apue. (1v) CromHomomunHEHHOE
TAK YTO JIOMHJIO IJIa3A. OpedsokeHHe ¢  OPHIATOYHEIM
H3BACHUTEIBHEIM

Codes:
(1) (@-@. (b)-(1). (¢)-(v), (d)-(111)
(2) (a)-(11). (b)-(2). (c)-(111), (d)-(iv)
(3)  (a)-(m). (b)-(av). (c)-(1). (d)-()
@  (a)-av). (b)-(11), (¢)-(11), (d)-()
Options :
5362285345. 1
5362285346.2

5362285347. 3
5362285348. 4

Question Number : 137 Question Id : 5362281371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



[lontepuTe moa mapy mpeldflodkeHHA H3 cToaoma «A» M HX THO H3 croigoma «b» m
VEAKITE. KAKOH H3 cIeIVIOMINX PAI0E OTPAKAET NIPABIIEHOE COOTBETCTEBHE:

« Ao «B»
(a) He 0nl710 v MeHA Taroro vrosopy. (1) CraomHomoTuHHEHHOE
YTOOBI IPOBAa TACKATD. OpendnodkeHHe ¢  NPHIATOYHEBIM

oﬁpaaa ,'.T,EfICT’EI-IH. MePEkI H CTEIIEeHH

(b) OTen morpedoBamd, uyTodel g examac (1) CroomHomoounHEHHOE

HIIM. ONpeaIoEeHHe ¢  [OPHIATOTHEIM
CIIeICTBHA
(¢) Hamo Toapko cTaTes TakuM obpazom, (1) CroomHomoounHEHHOE
utobre! [loapuas aeesna OpeaToEeHHe ¢  OPHIATOIHEIM
OUVTHJIACE KaK pas HaJl OIlpe e IHTe IEHEIM

KoJIoKoJIBHeH cB. ['eoprua.

(d) CHer Bcé craHoBHIICA Oesee U apue. (1v) CromHomomunHEHHOE
TAK YTO JIOMHJIO IJIa3A. OpedsokeHHe ¢  OPHIATOYHEIM
H3BACHUTEIBHEIM

Codes:
(1) (@-@. (b)-(1). (¢)-(v), (d)-(111)
(2) (a)-(11). (b)-(2). (c)-(111), (d)-(iv)
(3)  (a)-(m). (b)-(av). (c)-(1). (d)-()
@  (a)-av). (b)-(11), (¢)-(11), (d)-()
Options :
5362285345. 1
5362285346.2

5362285347. 3
5362285348. 4

Question Number : 138 Question Id : 5362281372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CoenunauTe pveckne $pashl H3 cTOJI0HEA «A» ¢ HX 3KBHBAJIEHTAMH H3 cTo/I0HEa «b»,

“An «Bw
(a) BRIOHTBCA H3 KOJel (1) to show somebody up in his true
colours
(b) BEBIBECTH Ha YHCTYVI BOIV (1) to make somebody blush
(c) BroHATE B KpPacKy (1) to be crest-fallen
(d) Bemarts Hoc (1v) to be unsettled

Codes:

(1) (a)-(v). (b)-(11), (c)-(). (d)-(11)
2)  (a)-Gv). (b)-(1). (e)-(111), (d)-(11)
(3)  (a)-(v). (b)-(). (©)-(11). (d)-(i11)
4 (@-@1). (b)-(1). (c)-(1), (d)-(v)

Options :

5362285349. 1

5362285350. 2

5362285351. 3
5362285352. 4

Question Number : 138 Question Id : 5362281372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CoenunauTe pveckne $pashl H3 cTOJI0HEA «A» ¢ HX 3KBHBAJIEHTAMH H3 cTo/I0HEa «b»,

“An «Bw
(a) BRIOHTBCA H3 KOJel (1) to show somebody up in his true
colours
(b) BEBIBECTH Ha YHCTYVI BOIV (1) to make somebody blush
(c) BroHATE B KpPacKy (1) to be crest-fallen
(d) Bemarts Hoc (1v) to be unsettled

Codes:

(1) (a)-(v). (b)-(11), (c)-(). (d)-(11)
2)  (a)-Gv). (b)-(1). (e)-(111), (d)-(11)
(3)  (a)-(v). (b)-(). (©)-(11). (d)-(i11)
4 (@-@1). (b)-(1). (c)-(1), (d)-(v)

Options :

5362285349. 1

5362285350. 2

5362285351. 3
5362285352. 4

Question Number : 139 Question Id : 5362281373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe RVPHAJIBEI H3 CTOMOHEAa A ¢ HX COOTEETCEVIOIIHMI JIHTEpPATVPHEIMH
TPYIIIHPOBKAMHE H3 cToJ0HEAa b :

A B
(a) «['pagvmee» (1) Huamumamsum

(b) «locturuna nna nyremecrsyroomux (1) IlpomerrviaeT

B IpeKpacHOM»

() «Hyvsanma» (m) Ilepesan
(d) «Hpacuaa mose» (iv) Hysumnoa
Codes:

()  (a)-1). (b)-(1i). (c)-(iv). (d)-(1)
(2) (a)-(11). (b)-(1). (¢)-(iv). (d)-(a11)
(3)  (2)-(). (b)-(1). (c)-(v), (d)-(1)
(4 (a)-@). (b)-(v). (c)-(111). (d)-(1)

Options :

5362285353. 1

5362285354. 2

5362285355.3
5362285356. 4

Question Number : 139 Question Id : 5362281373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe RVPHAJIBEI H3 CTOMOHEAa A ¢ HX COOTEETCEVIOIIHMI JIHTEpPATVPHEIMH
TPYIIIHPOBKAMHE H3 cToJ0HEAa b :

A B
(a) «['pagvmee» (1) Huamumamsum

(b) «locturuna nna nyremecrsyroomux (1) IlpomerrviaeT

B IpeKpacHOM»

() «Hyvsanma» (m) Ilepesan
(d) «Hpacuaa mose» (iv) Hysumnoa
Codes:

()  (a)-1). (b)-(1i). (c)-(iv). (d)-(1)
(2) (a)-(11). (b)-(1). (¢)-(iv). (d)-(a11)
(3)  (2)-(). (b)-(1). (c)-(v), (d)-(1)
(4 (a)-@). (b)-(v). (c)-(111). (d)-(1)

Options :

5362285353. 1

5362285354. 2

5362285355.3
5362285356. 4

Question Number : 140 Question Id : 5362281374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA aBTOpa H3 CTOIOHEA A ¢ HX COOTBETCBYVIOIMHMH CTATBAMH H3
cronbura b:

A B
(a) K. BamesmonT (1) «Hmaoun ratia»
(by B. Bprocos (n) «Hacnegne cumBonmasma u
Arvensiyan
(¢) A.Bemsml (1) «JIeMeHTapHEIE CJI0OBA O

CHMEBOJIHYECKOH II033HH»

(dy H.I'vvuaes (1v) «0 penHrHOZHEIX NepeFHHBaHHAX

Codes:

(1) (@)-av). (b)-(id), (c)-(1), (d)-(i1)
(2) (a)-(111), (b)-(1). (c)-(v). (d)-(11)
(3)  (a)-(1). (b)-(av). (c)-(1). (d)-(1)
4)  (a)-av). (b)-(1). (c)-(111), (d)-(11)

Options :

5362285357. 1

5362285358. 2

5362285359. 3
5362285360. 4

Question Number : 140 Question Id : 5362281374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA aBTOpa H3 CTOIOHEA A ¢ HX COOTBETCBYVIOIMHMH CTATBAMH H3
cronbura b:

A B
(a) K. BamesmonT (1) «Hmaoun ratia»
(by B. Bprocos (n) «Hacnegne cumBonmasma u
Arvensiyan
(¢) A.Bemsml (1) «JIeMeHTapHEIE CJI0OBA O

CHMEBOJIHYECKOH II033HH»

(dy H.I'vvuaes (1v) «0 penHrHOZHEIX NepeFHHBaHHAX

Codes:

(1) (@)-av). (b)-(id), (c)-(1), (d)-(i1)
(2) (a)-(111), (b)-(1). (c)-(v). (d)-(11)
(3)  (a)-(1). (b)-(av). (c)-(1). (d)-(1)
4)  (a)-av). (b)-(1). (c)-(111), (d)-(11)

Options :

5362285357. 1

5362285358. 2

5362285359. 3
5362285360. 4

Question Number : 141 Question Id : 5362281375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHuTe HMA PYCCEHX XVIOFEHHEOE H3 cToIOnEa A ¢ HX ITpOHIBeTeHHAMII H3

croxbura b:

A B
(a) M. Immeus (1) «/leBarwii am
(b) H. Penun () «Joxobp B 1vOooBOM JTecy»
(c) M. AfiBasosernil (m) «fAsmrenune Xpucra Hapomy»
(d) A. Hsanos (1v) «HBan I'posemiid u ero ceig Heam»

Codes:

(1) (a)-(1). (b)-(iv). (c)-(1). (d)-(i1l)
(2)  (a)-11). (b)-(1). (c)-(1v), (d)-(iii)
(3)  (@-@v). (b)-(i). (c)-(11), (d)-()
4 (2)-ui), (b)-(1), (c)-(v), (d)-()

Options :

5362285361. 1
5362285362. 2
5362285363. 3
5362285364. 4

Question Number : 141 Question Id : 5362281375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHuTe HMA PYCCEHX XVIOFEHHEOE H3 cToIOnEa A ¢ HX ITpOHIBeTeHHAMII H3

croxbura b:

A B
(a) M. Immeus (1) «/leBarwii am
(b) H. Penun () «Joxobp B 1vOooBOM JTecy»
(c) M. AfiBasosernil (m) «fAsmrenune Xpucra Hapomy»
(d) A. Hsanos (1v) «HBan I'posemiid u ero ceig Heam»

Codes:

(1) (a)-(1). (b)-(iv). (c)-(1). (d)-(i1l)
(2)  (a)-11). (b)-(1). (c)-(1v), (d)-(iii)
(3)  (@-@v). (b)-(i). (c)-(11), (d)-()
4 (2)-ui), (b)-(1), (c)-(v), (d)-()

Options :

5362285361. 1
5362285362. 2
5362285363. 3
5362285364. 4

Question Number : 142 Question Id : 5362281376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA MOO3TOB H3 CTOMOHEa A ¢ JHTePDATVPHBIMIE HAIIPpABJICHHAME HJ

cToonEa b:

A b
(a) B. Xrneonuros (1) CuMBomH3M
(b) A. Mapuenros (1) ArMeHsMm
(¢ K. Baxemont (1) DyTypHIM
(d) H.I'vvunes (iv) HuaxmpaEpsum

Codes:

(1) (a)-GD. (b)-@v). (e)-(1). (d)-(111)
(2)  (a)-Gn), (b)-Q). (e)-v). (d)-(11)
(3)  (a)-(1), (b)-Qv). (c)-(). (d)-(11)
4)  (2)-(w). (b)-(1). (c)-(1), (d)-(11)

Options :

5362285365. 1
5362285366. 2
5362285367.3
5362285368. 4

Question Number : 142 Question Id : 5362281376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA MOO3TOB H3 CTOMOHEa A ¢ JHTePDATVPHBIMIE HAIIPpABJICHHAME HJ

cToonEa b:

A b
(a) B. Xrneonuros (1) CuMBomH3M
(b) A. Mapuenros (1) ArMeHsMm
(¢ K. Baxemont (1) DyTypHIM
(d) H.I'vvunes (iv) HuaxmpaEpsum

Codes:

(1) (a)-GD. (b)-@v). (e)-(1). (d)-(111)
(2)  (a)-Gn), (b)-Q). (e)-v). (d)-(11)
(3)  (a)-(1), (b)-Qv). (c)-(). (d)-(11)
4)  (2)-(w). (b)-(1). (c)-(1), (d)-(11)

Options :

5362285365. 1
5362285366. 2
5362285367.3
5362285368. 4

Question Number : 143 Question Id : 5362281377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA RKOMIIOZHTOROE I3 CTOIOHEA A ¢ HX cOUHHeHHAMH H3 cToI0HEa b:

A b
(a) M. Crpasumcrmii (1) «Pycnan u JToovuman
(b) M. I'mmura (1) «/lexu Magroer Muencroro vesma»
() C.IIporodres (1) «Becna CeamenHag
(d) . Hlocrakosmua (1v) «Pomeo m [ImviaserTan

Codes:

(1) (a)-(). (b)-(11), (c)-(iv), (d)-()
2)  (a)-(). (b)-(11), (c)-(1), (d)-(v)
(3)  (a)-(id). (b)-@). (c)-(iv). (d)-(ii)
(4)  (a)-(id). (b)-(v). (e)-({). (d)-(1)

Options :

5362285369. 1
5362285370. 2
5362285371. 3
5362285372. 4

Question Number : 143 Question Id : 5362281377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHTe HMA RKOMIIOZHTOROE I3 CTOIOHEA A ¢ HX cOUHHeHHAMH H3 cToI0HEa b:

A b
(a) M. Crpasumcrmii (1) «Pycnan u JToovuman
(b) M. I'mmura (1) «/lexu Magroer Muencroro vesma»
() C.IIporodres (1) «Becna CeamenHag
(d) . Hlocrakosmua (1v) «Pomeo m [ImviaserTan

Codes:

(1) (a)-(). (b)-(11), (c)-(iv), (d)-()
2)  (a)-(). (b)-(11), (c)-(1), (d)-(v)
(3)  (a)-(id). (b)-@). (c)-(iv). (d)-(ii)
(4)  (a)-(id). (b)-(v). (e)-({). (d)-(1)

Options :

5362285369. 1
5362285370. 2
5362285371. 3
5362285372. 4

Question Number : 144 Question Id : 5362281378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHuTe IIpasTHHEH Ha crononka A c TaTaMH IIpasTHOBAHMA H3 cromonka b:

A B
(a) Tarpapwnn meHsn (1) 23 deBpana
(b) lemr Poccun (1) 25 auBapsa
(c) less HapomHOro eIHHCTBA (1) 12 mromna
(d) denmp saImHTHHEA OTedYecTBA (iv) 4 HombpsaA

Codes:

(1) (a)-Gi). (b)-(iid), (c)-@). (d)-(iv)
(2)  (a)-(m). (b)-(). (c)-(v). (d)-(1)
(3)  (a)-(). (b)-(m). (e)-(v), (d)-()
4)  (a)-(m). (b)-(v). (c)-(1). (d)-(1)

Options :

5362285373. 1
5362285374.2
5362285375. 3
5362285376. 4

Question Number : 144 Question Id : 5362281378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



CooTHecHuTe IIpasTHHEH Ha crononka A c TaTaMH IIpasTHOBAHMA H3 cromonka b:

(a)
(b)
(c)
(d)

Codes:

(1)
(2)
(3)
(4)

Options :

A
Tareanma geHb
Heur Pocenn
IleHs HapoIHOrO eIHHCTEA

,.:[E‘HE SAIIHTHHEA OTeYeCcTEA

(a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(a)-(111), (b)-(1). (e)-(av), (d)-(1)
(a)-(11), (b)-(113), (c)-(1v), (d)-(1)
(a)-(m1). (b)-(v). (c)-(1), (d)-(11)

5362285373. 1
5362285374.2
5362285375.3
5362285376. 4
Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

Question Id : 5362281379 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: No
Question

Numbers : (145 to 146)

Question Label : Comprehension

(1)
(1)
(ii1)

(1v)

B
23 deBpana
25 auBapa
12 mrona

4 HoabOpA

2
53622853
Yes

: Yes Group Comprehension Questions



IlpouniTaiiTe TerCcT H OTBeTHTEe HAa BoOopockl No: 95-96

Bapvr Cepreint l1BanoBnu yBHIesn. uTo Haduasl ropeTh OpabBhelii morop. OH mepemar mo

PAIHO: «TOPHT IPABRIH MoTop. [lonmpobvio MOTVINHTE OTOHEY.

On gyvmas. 4To GoJIBIIasd CKOPOCTE MOMOYKET IOTVINHTE OT0HB H HAIpPaBHJ CAMOJIET K
3eMJIe. 3eMIA OBICTpO MNPHOIHEAJACE, HO MOTOP NPOIOJIKAI TOpeTh. | opAmIiHii
caMoJIET Hadasd IagaThb. JIETYHMEK He Mol VIPABIATE camoiaéToM. C seMiam mpHmmén

npuras: «lIpemrails
- He mory. - orBeTHm 0H.

- ITowenmy? Ilowermy? [IpurassiBamn! — kpuuasn Ha pagno. Ho nérunk momuan. ¥V Hero He
OBL7IO BpeMeHH pasroBapHsaTh. CaMoéT magas Ha oKpaHHY ropofja. ITe HaXOIHJICH
meTcknil cax. OH ciBNIaTI IPpHEAS Do pagno. Ho oH Moauas. Ha senmse pemman. uto oH
noruo. Ho oH npomomxarn doporbea. EMy HyEHoO OBLIO IMIOBEPHVTE CAMOJIET TAK. YTOOBI

0OH He VIIaJl Ha JO0Ma H Ha ,‘_T,E"T(‘-HHfI Carm.

Sub questions

Question Number : 145 Question Id : 5362281380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ITouenmy Cepreit HsamoBuY pellna He ONpRITHYTE. KOrda €ro FOpANIHI CAMOJIET HAYAI

IaTaTk’
(1) IIOTOMY YUTO OH XOTE€JI COe/IATE IOYUTH HeBO3MOMKHOE H X0TeJI CTATE I'ePOeM.
(2) IIOTOMY YUTO €MV HaJo OBIJIO ¢OesIaTh Tak. YTOOBI OH CMOT CIIACTH JIIIelH H JeTell.
(3) TOTOMY 9TO OH AVMAJ, YTO OOJBIIAA CHOPOCTE MOTVIIHT OTOHD.
(4) IIOTOMY YUTO V HETro HE DBLIIO BpeMeHI.
Options :

5362285377. 1
5362285378. 2
5362285379. 3
5362285380. 4

Question Number : 146 Question Id : 5362281381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTyeTrsTe HpaEH.‘IBHHfi Fpa}I}IﬂTH‘-IE'-CRIIﬁ IEBHEBAJEeHT IIpedTOoXReHHA «OH caplman

IIpHEAS II0 padHO. HO OH MOJTYAJTIN.

(1) MomuaBmmii oH caBIIAT OPHEAS [0 PAIHO

() Momua. oH capman NpHEas Mo paaHo

(3) Momuad, oH e¢lBIIIAT OPHEKAS [0 PATHO

(4) Momuammii oH caBIIAT OPHEKAS II0 PATHO
Options :

5362285381. 1
5362285382. 2
5362285383. 3
5362285384. 4



Question Id : 5362281379 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (145 to 146)

Question Label : Comprehension

IlpouniTaliTe TerRCT I OTBETETEe Ha Bonopockl No: 95-96

Bapvr Cepreft llBanoBnY yBHIEI. YTO HAYA TOpeTh OpaBeli morop. OH mepenan mo

paIHo: «TOPHT IpaBeIi MoTop. [lonpobyvio moTvImuTe oroHBY.

Ox gyvmamn. 9To 6OIBIIAA CKOPOCTE IMOMOMEET MOTVIIHTE OFOHE H HATPABHI CaMOIET K
seMie. 3eMIA OBICTpO MIPHOIHEAJACE, HO MOTOP NPOIOJIKAI TOpeTh. | opAmIHi
CAMOJET HaYaJl MAaTaTh. JIETUHE He MOTI VIOPaBIATE camoxéroM. C seMam mpHmén

npukas: «lIpemrai!»
- He mory. - orBeTnm oH.

- IMoueny? Ilowerny? [Ipurassisan! — kpuuanx Ha pagno. Ho mérunk momugan. Y "Hero He
OBLTIO BpeMeHH pasropapuBaThk. (aMonéT magas Ha OKpPAHHY ropoda. TIe HAaXOIHJICHA
meTcrnii can. OH CIIBNIIAT IPHUKAS [0 pATHO0. HO oH Moauast. Ha semme pemman. uro oH
norud. Ho o npomomsas boporkea. EmMy Hy:&Ho OBLIO MOBEPHYTE cAMOJIET TAK. ITOORI

0OH He VIIaJ Ha J0Ma H Ha OeTCHHI cal.

Sub questions

Question Number : 145 Question Id : 5362281380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



ITouenmy Cepreit HsamoBuY pellna He ONpRITHYTE. KOrda €ro FOpANIHI CAMOJIET HAYAI

IaTaTk’
(1) IIOTOMY YUTO OH XOTE€JI COe/IATE IOYUTH HeBO3MOMKHOE H X0TeJI CTATE I'ePOeM.
(2) IIOTOMY YUTO €MV HaJo OBIJIO ¢OesIaTh Tak. YTOOBI OH CMOT CIIACTH JIIIelH H JeTell.
(3) TOTOMY 9TO OH AVMAJ, YTO OOJBIIAA CHOPOCTE MOTVIIHT OTOHD.
(4) IIOTOMY YUTO V HETro HE DBLIIO BpeMeHI.
Options :

5362285377. 1
5362285378. 2
5362285379. 3
5362285380. 4

Question Number : 146 Question Id : 5362281381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

OTyeTrsTe HpaEH.‘IBHHfi Fpa}I}IﬂTH‘-IE'-CRIIﬁ IEBHEBAJEeHT IIpedTOoXReHHA «OH caplman

IIpHEAS II0 padHO. HO OH MOJTYAJTIN.

(1) MomuaBmmii oH caBIIAT OPHEAS [0 PAIHO

() Momua. oH capman NpHEas Mo paaHo

(3) Momuad, oH e¢lBIIIAT OPHEKAS [0 PATHO

(4) Momuammii oH caBIIAT OPHEKAS II0 PATHO
Options :

5362285381. 1
5362285382. 2
5362285383. 3
5362285384. 4

Sub-Section Number : 3



Sub-Section Id :

53622854
Question Shuffling Allowed :

Yes

Question Id : 5362281382 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (147 to 150)
Question Label : Comprehension



IlpouniTaliTe TereT H oTBeTHTe Ha Bonopockl Ne 97-100

JluteparypHEIA HA3BIK — 3TO. pasyMeeTcd. JaJIeK0 He OIHO H TO JKe. UT0 H3BIK
XVIOKECTBEeHHON MTHTepATVPEI. B 0CHOBe A3RIKA XVIOHKECTBEHHON THTEPATVPEL JIEEUT
TUTEepPATYPHEIN A3mIK. Il. Domee Toro. MHTepaTyYPHEBIA A3BIK KAK OB BEIPACTAET M3
A3RIKA XVI0MKeCTBeHHON nuTepaTvpel. I Beé e A3BIK XyIoEeCcTBEHHOH JTHTEPATVPERL —
aTo ocoboe ABIeHHe. Ero rimaBHAad oTIHYHTEIRHAA Y€PTA COCTHOHT B TOM. UTO OH HECET
B cede OOJMBINVID 3CTETHYeCKVI0 HATpV3ky. na mocTmweHmda scTeTHUecKHX Ieleld B
A3BIK XVIOXKECTBEHHOH JIHTEPATVPEI MOIVT MOPHBJIEKATBECA IHAIEKTEI H IpyrHe

HelIHTepaTypPHBIE 3/ IeMEHTHI.

OxHa U3 rIaBpHeHMNX QVHKIIHE JIHTepaATVPHOIO S3BIKA — OBITE A3BIKOM Beell HAIIHH.
BCTAThk HAI OTIeIBHEIMH JIOKAIBHEIMH HJIH CONHAIBHBIMH oOrpAaHHYeHHBIMH
A3BIKOBBEIMH oOpasoBaHHAMH. JIHTepaTypHEIH H3BIK — 3T0 TO. IIOCPeICTBOM dUero
co3JaeTcd. ecTecTBeHHO. HApPAIV € 3KOHOMHYeCKHMH, IIOTHTHYeCKHMH H IPVIHMH
dbakTopaMH. eIHHCTBO HaIHH. be3 pasBHUTOr0 JIHTEPATYPHOIO HA3BIKA TPVIHO
OpelIcTABHTE cebe monHoleHHVI0 Hanuno. HssecTHrell coBpemennniil jquarsmcer M.B.
[IaHoB cpeal OCHOBHEIX IIPH3HAKOE IHTePATVPHOIO A3EIKA HA3BIBAET TAKHe. KAK A3EIK
KEVJIBTVPEL. A3EIE 00pasoBaHHOI YacTH HApoIa. co3HATEeIbHO KOIH(PHIINpOoBaHHEIN
a3mK. llocmenHee — cosHaTeIbHAA KOTH(HKAIINA S3BIKA — IpAMAad 3a0a49a KVJIBTVPEI

PevH. C IMMOABJIeHHEM JITHTePATYVPHOI'O A3BIEA IMOABIMAESTCHA H «EYVJIBTYVPA PETIH».

Sub questions

Question Number : 147 Question Id : 5362281383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hize JaHELI IBA BREICKASBIBEAHIA Ha OCHOBE TEHECTA.
L Aspir X}'JGEE‘CTBEHHDﬁ JHTePATYV PRI HMeeT aCTeTHYeCKOEe JHAaYMEeHHE.
11 .HIITEPHT}’prIfI ASEBIK He BCel'la HMeeT aCTeTHYUeCHOe JHaMeHHE .

BriGepuTe npaBHIBHBIH OTBET:

(1) (O6a BRICKA3LIBAHNA BEpHEL.

(2) (O0a BrICKA3LIBAHHA HEeBePHBL

(3) IlepBoe BEICKA3BIBAHHE BepHO., BTOPOe HEBEPHO.
(4) Ilepsoe BrIcKAa3EIBaHHe HeBepHO. BTOPOE BEPHO.
Options :

5362285385. 1
5362285386. 2
5362285387. 3
5362285388. 4

Question Number : 148 Question Id : 5362281384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hm#e naner 1Ba BRICKASEIBAHHA HA OCHOBE TEKCTA:

B Asmk xymoskecTBEHHOrO TeKCTA BCErOa HCIBITEIBAET BIHNAHNE JIHTEPATYVPHOTO
SISBIKA.

II. HAsmix xyvaomecTBEHHOrO TEKCTA W JIHUTEePATVPHEIN A3BIK 000TAIIAKOT IPVT IPVTA.

BriGepuTe npaBHJIBHBIH OTBET!

(1) Oba BEICKA3EIBAHINA BEPHEL.

(2) (O0a BRICKA3LIBAHNA HeBePHEL.

(3) [lepBoe BRICKA3EIBAHHE BEPHO. BTOPOE HEBEPHO.

(4) [IepBoe BRICKASEIBAHNE HEBEPHO. BTOPOE BEPHO.
Options :

5362285389. 1
5362285390. 2
5362285391. 3
5362285392. 4

Question Number : 149 Question Id : 5362281385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hirxe JAaHBI IBA BEICKASBIBAHIIA Ha OCHOBE TeHCTA.

I IlomsouenHaa Hana Beeraga HMeeT PASBHTEIN JIHTePATYPHEIN A3BIK.

II. C Tourm spemma M. IlamoBa a3pIKk HeoOpasOBAHHEIX JTIOIeH TOEe CUHTASTCA
MIPH3HAKOM JIHTEpPaTyPHOTO I3EIKA.

BriGepuTre mpaBHJIBHBIH OTBET:

(1) (O6a BrICKA3LIBAHHUA BepHEL

(2) (Oba BEICKAasBIBAHNA HeBEePHEL.

(3) IlepBoe BRICKA3EIBAHHE BEepHO. BTOpOe HeBepHO.

(4) [lepBoe BRICKa3EIBaHNEe HEBEPHO. BTOpPOe BEPHO.
Options :

5362285393. 1
5362285394. 2
5362285395. 3
5362285396. 4

Question Number : 150 Question Id : 5362281386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Huske mansr gpa BRICKa3BIBAHHA Ha OCHOBE TeKCTA:

1 CosHaTeIpHO KOOH(QHIHPOBEAHHBIN A3BIKE ABIAeTCA [JIaBHOH 3agadell KVIBTYPEL
pEetIH.

II. HAsreix obpasoBaHHOI YacTH Hapoda CIIVENIT OCHOBOH JIHITEPATYPHOTO A3EIKA.

BriGepuTe mpaBHIBHBIN OTBET:

(1) O0a BRICKASLIBAHHA BEpPHEL

(2) (O0a BRICKA3EIBAHNA HEEEPHEL

(3) [IepBoe BrIcKasHIBaHNe BepPHO. BTOPOE HEBEPHO.

(4) [lepBoe BEICKA3EIBAHNE HEBEPHO. BTOPOE BEpPHO.
Options :

5362285397. 1
5362285398. 2
5362285399. 3
5362285400. 4

Question Id : 5362281382 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (147 to 150)

Question Label : Comprehension



IlpouniTaliTe TereT H oTBeTHTe Ha Bonopockl Ne 97-100

JluteparypHEIA HA3BIK — 3TO. pasyMeeTcd. JaJIeK0 He OIHO H TO JKe. UT0 H3BIK
XVIOKECTBEeHHON MTHTepATVPEI. B 0CHOBe A3RIKA XVIOHKECTBEHHON THTEPATVPEL JIEEUT
TUTEepPATYPHEIN A3mIK. Il. Domee Toro. MHTepaTyYPHEBIA A3BIK KAK OB BEIPACTAET M3
A3RIKA XVI0MKeCTBeHHON nuTepaTvpel. I Beé e A3BIK XyIoEeCcTBEHHOH JTHTEPATVPERL —
aTo ocoboe ABIeHHe. Ero rimaBHAad oTIHYHTEIRHAA Y€PTA COCTHOHT B TOM. UTO OH HECET
B cede OOJMBINVID 3CTETHYeCKVI0 HATpV3ky. na mocTmweHmda scTeTHUecKHX Ieleld B
A3BIK XVIOXKECTBEHHOH JIHTEPATVPEI MOIVT MOPHBJIEKATBECA IHAIEKTEI H IpyrHe

HelIHTepaTypPHBIE 3/ IeMEHTHI.

OxHa U3 rIaBpHeHMNX QVHKIIHE JIHTepaATVPHOIO S3BIKA — OBITE A3BIKOM Beell HAIIHH.
BCTAThk HAI OTIeIBHEIMH JIOKAIBHEIMH HJIH CONHAIBHBIMH oOrpAaHHYeHHBIMH
A3BIKOBBEIMH oOpasoBaHHAMH. JIHTepaTypHEIH H3BIK — 3T0 TO. IIOCPeICTBOM dUero
co3JaeTcd. ecTecTBeHHO. HApPAIV € 3KOHOMHYeCKHMH, IIOTHTHYeCKHMH H IPVIHMH
dbakTopaMH. eIHHCTBO HaIHH. be3 pasBHUTOr0 JIHTEPATYPHOIO HA3BIKA TPVIHO
OpelIcTABHTE cebe monHoleHHVI0 Hanuno. HssecTHrell coBpemennniil jquarsmcer M.B.
[IaHoB cpeal OCHOBHEIX IIPH3HAKOE IHTePATVPHOIO A3EIKA HA3BIBAET TAKHe. KAK A3EIK
KEVJIBTVPEL. A3EIE 00pasoBaHHOI YacTH HApoIa. co3HATEeIbHO KOIH(PHIINpOoBaHHEIN
a3mK. llocmenHee — cosHaTeIbHAA KOTH(HKAIINA S3BIKA — IpAMAad 3a0a49a KVJIBTVPEI

PevH. C IMMOABJIeHHEM JITHTePATYVPHOI'O A3BIEA IMOABIMAESTCHA H «EYVJIBTYVPA PETIH».

Sub questions

Question Number : 147 Question Id : 5362281383 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hize JaHELI IBA BREICKASBIBEAHIA Ha OCHOBE TEHECTA.
L Aspir X}'JGEE‘CTBEHHDﬁ JHTePATYV PRI HMeeT aCTeTHYeCKOEe JHAaYMEeHHE.
11 .HIITEPHT}’prIfI ASEBIK He BCel'la HMeeT aCTeTHYUeCHOe JHaMeHHE .

BriGepuTe npaBHIBHBIH OTBET:

(1) (O6a BRICKA3LIBAHNA BEpHEL.

(2) (O0a BrICKA3LIBAHHA HEeBePHBL

(3) IlepBoe BEICKA3BIBAHHE BepHO., BTOPOe HEBEPHO.
(4) Ilepsoe BrIcKAa3EIBaHHe HeBepHO. BTOPOE BEPHO.
Options :

5362285385. 1
5362285386. 2
5362285387. 3
5362285388. 4

Question Number : 148 Question Id : 5362281384 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hm#e naner 1Ba BRICKASEIBAHHA HA OCHOBE TEKCTA:

B Asmk xymoskecTBEHHOrO TeKCTA BCErOa HCIBITEIBAET BIHNAHNE JIHTEPATYVPHOTO
SISBIKA.

II. HAsmix xyvaomecTBEHHOrO TEKCTA W JIHUTEePATVPHEIN A3BIK 000TAIIAKOT IPVT IPVTA.

BriGepuTe npaBHJIBHBIH OTBET!

(1) Oba BEICKA3EIBAHINA BEPHEL.

(2) (O0a BRICKA3LIBAHNA HeBePHEL.

(3) [lepBoe BRICKA3EIBAHHE BEPHO. BTOPOE HEBEPHO.

(4) [IepBoe BRICKASEIBAHNE HEBEPHO. BTOPOE BEPHO.
Options :

5362285389. 1
5362285390. 2
5362285391. 3
5362285392. 4

Question Number : 149 Question Id : 5362281385 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Hirxe JAaHBI IBA BEICKASBIBAHIIA Ha OCHOBE TeHCTA.

I IlomsouenHaa Hana Beeraga HMeeT PASBHTEIN JIHTePATYPHEIN A3BIK.

II. C Tourm spemma M. IlamoBa a3pIKk HeoOpasOBAHHEIX JTIOIeH TOEe CUHTASTCA
MIPH3HAKOM JIHTEpPaTyPHOTO I3EIKA.

BriGepuTre mpaBHJIBHBIH OTBET:

(1) (O6a BrICKA3LIBAHHUA BepHEL

(2) (Oba BEICKAasBIBAHNA HeBEePHEL.

(3) IlepBoe BRICKA3EIBAHHE BEepHO. BTOpOe HeBepHO.

(4) [lepBoe BRICKa3EIBaHNEe HEBEPHO. BTOpPOe BEPHO.
Options :

5362285393. 1
5362285394. 2
5362285395. 3
5362285396. 4

Question Number : 150 Question Id : 5362281386 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Huske mansr gpa BRICKa3BIBAHHA Ha OCHOBE TeKCTA:

1 CosHaTeIpHO KOOH(QHIHPOBEAHHBIN A3BIKE ABIAeTCA [JIaBHOH 3agadell KVIBTYPEL
peyn.

II. HAsreix obpasoBaHHOI YacTH Hapoda CIIVENIT OCHOBOH JIHITEPATYPHOTO A3EIKA.

BriGepuTe mpaBHIBHBIN OTBET:

(1) O0a BRICKASLIBAHHA BEpPHEL

(2) (O0a BRICKA3EIBAHNA HEEEPHEL

(3) [IepBoe BrIcKasHIBaHNe BepPHO. BTOPOE HEBEPHO.

(4) [lepBoe BRICKASLIBAHNE HEBEPHO. BTOPOE BEPHO.
Options :

5362285397. 1
5362285398. 2
5362285399. 3
5362285400. 4



